	TEST 1
WITH KEY
	ĐỀ THI THPT QUỐC GIA NĂM 2015

MÔN THI: TIẾNG ANH 

Thời gian: 90 phút


Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1:  A. consume

B. reflect

C. local

D. between
Question 2:  A. disappear

B. engineer

C. understand

D. attachment

Question 3:
A. confidential

B. relationship

C. enthusiast

D. endangerment

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that is pronounced differently from the rest in each of the following questions.

Question 4:  A. wasted

B. practiced

C. laughed

D. jumped

Question 5: A. coast


B. most

C. lost

  
D. whole

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions.

Question 6: Since fireworks are dangerous, many countries have laws preventing businesses to sell them.

                        A                             B                                                              C                               D

Question 7: It was suggested that your father gave up smoking for the sake of himself.

                                A                                         B              C                                   D

Question 8: All nations may have to make fundamental changes in their economic, political, and

                                                        A                                       B

the technological institutions if they are to preserve environment.

                  C                                                  D                 

Question 9: One of the students who are being considered for the scholarship are from this university. 

                         A                                     B                              C                          D

Question 10: The Oxford English Dictionary is well known for including many different meanings 

                       A                                                          B                                                              C

of words and to give real examples.

                         D

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 11: In a formal interview, it is essential to maintain good eye _______ with the interviewers.


A. link


B. connection


C. touch

D. contact

Question 12: Grace Kelly was first famous as a Hollywood actress and then ______ Prince Rainier of Monaco.


A. to be the wife of
B. she was the wife of

C. the wife of

D. as the wife of

Question 13: We often take this small road home to avoid heavy _______ on the main streets.


A. cars


B. traffic


C. vehicles

D. movement

Question 14: When he came to the counter to pay, he found that he had _____ cash _____ his credit card with him. 


A. either / or

B. neither / nor

C. both / and

D. not / neither

Question 15: You look tired. _______ hard all day?


A. Have you been working



B. Did you work


C. Do you work




D. Are you working

Question 16: Tom looks so frightened and upset. He _______ something terrible.


A. must experience




B. can have experienced


C. should have experienced



D. must have experienced
Question 17: Ann was very surprised to find the door unlocked. She remembered _______ it before she left.


A. to lock

B. having locked

C. to have locked
D. she locks

Question 18: The speed of light is _______ the speed of sound.


A. faster

B. much faster than

C. the fastest

D. as fast

Question 19: _______ imaginative stories about the origin of the game of chess.


A. Many of the
B. Many


C. There are many
D.Of the many

Question 20: _______ it not been for the torrential rain, we would have gone out.


A. But


B. If 



C. Had 

D. Should

Question 21: A week or two before New Year’s Days, the markets are _______ people selling and buying things. 


A. filled with

B. crowd with


C. ready for

D. crowded with 

Question 22: The kind-hearted woman _______ all her life to helping the disabled and the poor.


A. wasted

B. spent


C. dedicated

D. lived

Question 23: “May I leave a message for Ms Davis?”  - “​​​______”

A. I’m afraid she is not here at the moment.
B. No, she’s not here now.


  

C. She’s leaving a message for you now

D. Yes, I’ll make sure she gets it.

Question 24: Peter was born and brought up in Hastings and knows it likes the _____ .


A. nose on his face
B. tip of his tongue

C. back of his hand
D. hair on his head

Question 25: Nobody wears clothes like that any more – they’re ______


A. fashion

B. unfashionable

C. fashionable

D. fashionably

Question 26: The more you work, _____ you’ll pass your exams.

A. good

B. the best


C. best


D. the better

Question 27: “It was very kind of you to help me out, Paul?” – “_____”

 
A. I’m glad you like it




B. Thanks a million


C. That was the least I could do


D. You can say that again.

Question 28: Lucy was late for school this morning because the alarm didn’t _______ as usual.


A. ring off

B. get off


C. go off

D. take off

Question 29: The ________ of the radio by Marconi played an important part in the development of communication.


A. development
B. discovery


C. invention

D. research

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) SIMILAR in meaning to the underlined word(s) in each of the following questions.

Question 30: The air is naturally contaminated by foreign matter such as plant pollens and dust. .

A. polluted

B. occupied


C. filled

D. concentrated

Question 31: I was not aware of what was happening after I tripped and knocked my head against the table.


A. careful

B. responsive


C. conscious

D. cautious

Question 32: The company empowered her to declare their support for the new event. As a matter of fact, she now has more power to do what she wants than ever before.


A. forbade

B. helped


C. authorized

D. ordered

Question 33: There was no one to take over the army when the general died in a battle.


A. fight

B. defend


C. protect

D. control

Question 34: Chicken pox results in an eruption on the skin and sometimes it leaves permanent marks.


A. rash

B. hole


C. erosion


D. division

Mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase to fill in the blank in the following passage 

Environmental Concerns

          Earth is the only place we know of in the universe that can support human life (35) ______ human activities are making the planet less fit to live on. As the western world carries on consuming two-thirds of the world's resources while half of the world's population do so (36)______ to stay alive we are rapidly destroying the (37)______ resource we have by which all people can survive and prosper. Everywhere fertile soil is (38)______ built on or washed into the sea. Renewable resources are exploited so much that they will never be able to recover (39)______ We discharge pollutants into the atmosphere without any thought of the consequences. As a (40)______ the planet's ability to support people is being reduced at the very time when

rising human numbers and consumption are (41)______increasingly heavy demands on it.

The Earth's (42)______ resources are there for us to use. We need food, water, air, energy, medicines, warmth, shelter and minerals to (43)______ us fed, comfortable, healthy and active. If we are sensible in how we use the resources they will (44)______ indefinitely. But if we use them wastefully and excessively they will soon run out and everyone will suffer.

Question 35: 
A. still                 
B. despite                  
C. yet                          
D. although

Question 36: 
A. for                  
B. just                       
C. already                   
D. entirely

Question 37: 
A. lone                
B. Individual             
C. lonely                     
D. alone

Question 38: 
A. sooner            
B. rather                    
C. either                      
D. neither

Question 39: 
A. completely     
B. quite                      
C. greatly                    D. utterly

Question 40: 
A. result             
B. product                  
C. development          
D. reaction

Question 41: 
A. having            
B. doing                     
C. taking                    
D. making

Question 42: 
A. natural            
B. real                        
C. living                      D. genuine

Question 43: 
A. stay                
B. keep                      
C. maintain                 
D. hold

Question 44: 
A. last                 
B. stand                      
C. remain                    D. go

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

   
A number of factors related to the voice reveal the personality of the speaker.

The first is the broad area of communication, which includes imparting information by use of language, communicating with a group or an individual and specialized communication through performance. A person conveys thoughts and ideas through choice of words, by a tone of voice that is pleasant or unpleasant, gentle or harsh, by the rhythm that is inherent within the language itself, and by speech rhythms that are flowing and regular or uneven and hesitant, and finally, by the pitch and melody of the utterance. When speaking before a group, a person's tone may indicate uncertainty or fright, confidence or calm. At interpersonal levels, the tone may reflect ideas and feelings over and above the words chosen, or may belie them. Here the participant’s tone can consciously or unconsciously reflect intuitive sympathy or antipathy, lack of concern or interest, fatigue, anxiety, enthusiasm or excitement, all of which are usually discernible by the acute listener. Public performance is a manner of communication that is highly specialized with its own techniques for obtaining effects by voice and /or gesture. The motivation derived from the text, and in the case of singing, the music, in combination with the performer's skills, personality, and ability to create empathy will determine the success of artistic, political, or pedagogic communication.

   Second, the voice gives psychological clues to a person's self-image, perception of others, and emotional health. Self-image can be indicated by a tone of voice that is confident, pretentious, shy, aggressive, outgoing, or exuberant, to name only a few personality traits. Also the sound may give a clue to the facade or mask of that person, for example, a shy person hiding behind an overconfident front. How a speaker perceives the listener's receptiveness, interest, or sympathy in any given conversation can drastically alter the tone of presentation, by encouraging or discouraging the speaker. Emotional health is evidenced in the voice by free and melodic sounds of the happy, by constricted and harsh sound of the angry, and by dull and lethargic qualities of the depressed.

Question 45: What does the passage mainly discuss?

A. The function of the voice in performance

B. Communication styles

C. The connection between voice and personality
D. The production of speech

Question 46: What does the author mean by staring that, "At interpersonal levels, tone may reflect ideas and feelings over and above the words chosen" in lines 8- 9?

A. Feelings are expressed with different words than ideas are.

B. The tone of voice can carry information beyond the meaning of words.

C. A high tone of voice reflects an emotional communication.


D. Feelings are more difficult to express than ideas.

Question 47: The word "Here" in line 9 refers to _____ .

A. interpersonal interactions



B. the tone


C. ideas and feelings




D. words chosen

Question 48: The word "derived" in line 13 is closest in meaning to _____ .

A. discussed


B. prepared

C. registered


D. obtained

Question 49: Why does the author mention "artistic, political, or pedagogic communication" in line 14-15?

A. As examples of public performance

B. As examples of basic styles of communication

C. To contrast them to singing


D. To introduce the idea of self-image

Question 50: According to the passage, an exuberant tone of voice may be an indication of a person's ____ .

A. general physical health
B. personality

C. ability to communicate
D. vocal quality

Question 51:  According to the passage, an overconfident front may hide _____ .

A. hostility


B. shyness

C. friendliness


D. strength

Question 52: The word "drastically" in line 21 is closest in meaning to _____ .

A. frequently


B. exactly

C. severely


D. easily

Question 53: The word "evidenced" in line 22 is closest in meaning to _____ .

A. questioned


B. repeated

C. indicated


D. exaggerated

Question 54: According to the passage, what does a constricted and harsh voice indicate?

A. lethargy


B. depression

C. boredom


D. anger

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 56 to 65.
Since water is the basis of life, composing the greater part of the tissues of all living things, the crucial problem of  desert animals is to survive in a world where sources of flowing water are rare. And since man’s inexorable necessity is to absorb large quantities of water at frequent intervals, he can scarcely comprehend that many creatures of the desert pass their entire lives without a single drop.

Uncompromising as it is, the desert has not eliminated life but only those forms unable to withstand its desiccating effects. No moist- skinned, water-loving animals can exist there. Few large animals are found. The giants of the North American desert are the deer, the coyote, and the bobcat. Since desert country is open, it holds more swift-footed running and leaping creatures than the tangled forest. Its population is largely nocturnal, silent, filled with reticence, and ruled by stealth. Yet they are not emaciated.

Having adapted to their austere environment, they are as healthy as animals anywhere else in the word. The secret of their adjustment lies in the combination of behavior and physiology. None could survive if, like mad dogs and Englishmen, they went out in the midday sun; many would die in a matter of minutes.  So most of them pass the burning hours asleep in cool, humid burrows underneath the ground,  emerging to hunt only by night. The surface  of  the  sun-baked  desert  averages  around  150  degrees,  but  18  inches  down  the temperature is only 60 degrees.

Question 55:   The title for this passage could be             .

A. “Animal Life in a Desert Environment”

B. “Desert Plants”

C. “Man’s Life in a Desert Environment”

D. “Life Underground”

Question 56:  The word “tissues” in the passage mostly means              .

A. “the smallest units of living matter that can exist on their own”

B. “the simplest forms of life that exist in air, water, living and dead creatures and plants”

C. “collections of cells that form the different parts of humans, animals and  plants”

D. “very small living things that cause infectious disease in people, animals and plants”

Question 57:  Man can hardly understand why many animals live their whole life in the desert, as             .

A. water is an essential part of his existence

B. water composes the greater part of the tissues of living things

C. very few lager animals are found in the desert

D. sources of flowing water are rare in a desert

Question 58:  The phrase “those forms” in the passage refers to all of the following EXCEPT

A. many large animals



B. water-loving animals

C. moist-skinned animals



D. the coyote and the bobcat

Question 59:  According to the passage, creatures in the desert                  .

A. are more active during the day than those in the tangled forest

B. are not as healthy as those anywhere else in the world

C. run and leap more slowly than those in the tangled forest

D. run and leap faster than those in the tangled forest

Question 60:  The author mentions all the following as examples of the behavior of desert animals EXCEPT             .

A. they dig home underground


B. they sleep during the day

C. they are watchful and quiet


D. they are noisy and aggressive

Question 61:  The word “emaciated” in the passage mostly means             .

A. “living or growing in natural conditions, not kept in a house or on a farm”

B. “large and strong, difficult to control or deal with”

C. “thin and weak because of lack of food and water”

D. “able to get what one wants in a clever way, especially by tricking or cheating”

Question 62:  According to the passage, one characteristic of animals living in the desert is that

A. they are smaller and fleeter than forest animals

B. they can hunt in temperature of 150 degrees

C. they live in an accommodating environment

D. they are less healthy than animals living in other places

Question 63:  The word “burrows” in the passage mostly means             .

A. “places where a particular type of animal or plant is normally found”

B. “holes or tunnels in the ground made by animals for them to live in”

C. “places where insects or other small creatures live and produce their young”

D. “structures made of metal bars in which animals or birds are kept”

Question 64:  We can infer from the passage that             .

A. desert life is colorful and diverse


B. living things adjust to their environment

C. healthy animals live longer lives


D. water is the basis of desert life

PHẦN TỰ LUẬN:

Part I: Finish each of the following sentences in such a way that it means the same as the sentence printed before it.

Question 65:  Mike has never been to the capital before.

> This is the first _____________________________________________ .

Question 66: The football match was put off because of the bad weather.

> Because ___________________________________________________ .

Question 67: Nam is not old enough to join the army.

> Nam is too  ________________________________________________ .
Question 68: The manager made all the employees work at the weekend.

> All the employees ___________________________________________ .  

Question 69: The bus driver cannot be blamed for the accident in any way.

> In _______________________________________________________ .

Part II: In about 140 words, write a paragraph about the most memorable experience in your life.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………                                                                                                                                                                                                                                                        --------THE END--------
ĐÁP ÁN VÀ BIỂU ĐIỂM:

PHẦN TRẮC NGHIỆM (64 Question x 0,125 = 8 điểm):

	1. C
	9. D
	17. B
	25. B
	33. D
	41. D
	49. B
	57. A

	2. D
	10. D
	18. B
	26. D
	34. A
	42. A
	50. B
	58. A

	3. A
	11. D
	19. C
	27. C
	35. C
	43. B
	51. B
	59. D

	4. A
	12. D
	20. C
	28. C
	36. B
	44. A
	52. C
	60. D

	5. C
	13. B
	21. D
	29. C
	37. C
	45. C
	53. C
	61. C

	6. D
	14. B
	22. C
	30. A
	38. C
	46. B
	54. D
	62. A

	7. B
	15. A
	23. D
	31. C
	39. A
	47. A
	55. A
	63. B

	8. C
	16. D
	24. C
	32. C
	40. A
	48. D
	56. C
	64. B


PHẦN TỰ LUẬN (2 điểm):

Part I: (5 Question x 0,1 = 0,5 điểm)

65. This is the first time Mike has been to the capital.

66. Because the weather was bad, the football match was put off.

67. Nam is too young to join the army.

68. All the employees were made to work at the weekend.

69. In no way can the bus driver be blamed for the accident. 

Part II: 1,5 điểm

- content: 30%

- organization: 30%

- vocabulary and structures: 40% 

	TEST 2
	ĐỀ THI THPT QUỐC GIA NĂM 2015

MÔN THI: TIẾNG ANH 

Thời gian: 90 phút


Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions  

Question 1: 
A. energy
B. gain
C. gesture
D. village

Question 2: 
A. population
B. nation
C. question
D. station

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 3: 
A. compete
B. finish
C. expect
D. invent

Question 4: 
A. develope
B. attractive
C. advertise
D. construction

Question 5: 
A. community
B. particular
C. authority
D. mathematics

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer that best completes each unfinished sentence  

Question 6: We are going to …………….

A. get our house being redecorated
B. have our house be redecorated

C. have our house to be redecorated
D. have our house redecorated
Question 7: So little………….about mathematics that the lecture was completely beyond me.
A. I have known
B. I knew
C. do I know
D. did I know

Question 8: His letter is full of mistakes. He …………………..  the mistakes carefully before sending it.

A. must have checked
B. should have  6.﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽checked
C. can have checked
D. could have checked

Question 9: Light ……………. faster than sound.

A. travel
B. travels
C. is travelling
D. travelled

Question 10: He found…………………………….to answer all the questions within the time given.

A. it impossibly
B. it impossible
C. that impossibly
D. that impossible
Question 11: Tom: “The maintenance people didn’t remove the chairs from ballroom.”

                  Mary:  “Don’t worry. They …………them before the dance begins.”

A. will have moved
B. moved
C. will have been moved
D. were moved

Question 12: I really regret …………………your feeling when I asked you such a silly question.

A. to hurt
B. hurt
C. hurts
D. hurting

Question 13: “Is the lift is working?” – “No , it’s .................Let’s use the stairs.”

A. out of work
B. out of order
C. impossible
D. in danger

Question 14: A good essay must ………………..contain enough interesting ideas and specific exam but also have good organization.

A. not only
B. as well
C. either
D. in addition

Question 15: I'm sorry! I didn't break that vase on............

A. time
B. purpose
C. intention
D. my mind

Question 16: Maria: “I’m taking my end-of-term examination tomorrow.”       

                  Sarah: “.................”

A. Good luck
B. Good chance
C. Good day
D. Good time

Question 17: The girls and flowers …………. he painted were vivid.

A. whose
B. that
C. which
D. who

Question 18: Women's employment rate is getting …………

A. high and high
B. higher and higher
C. high and higher
D. higher and  the highest
Question 19: Gold………. in California in the 19th century.

A. has been discovered
B. was discover
C. they discovered
D. was discovered

Question 20: Laura: “What a lovely house you have!”
Mary: “……………….”

A. Thank you. Hope you will drop in.
B. No problem

C. Of course not, It’s not costly
D. Thanks. I think so

Question 21: Would John be angry if I ………………..his bicycle without asking?

A. had taken
B. take
C. took
D. would take

Question 22: Although he was ………………………………… , he agreed to play tennis with me.

A. exhaustive
B. exhausting
C. exhausted
D. exhaustion

Question 23: He is very worried ……… his new job because he is not quite prepared …………working.

A. about / for
B. in / at
C. to / off
D. on / over

Question 24: I ……………………. my Mum by cooking dinner for her. 

A. cheered up              B. looked up
C. waited for
D. felt like

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions.  

Question 25: Mrs. Stevens, along with her cousins from New Mexico, are planning to attend the festivities.

                                  A            B                                         C                        D

Question 26: The teacher asked him why hadn’t he done his homework, but he said nothing.
                                        

   A 
       B 
     


C
     D

Question 27: Hardly had he entered the room than all the lights went out.


              
        A                             B                C        D

Question 28: A paragraph is a portion of a text consists of one or more sentences related to the same idea.                        

                            A                                                  B                                     C             D 

Question 29: John congratulated us to our excellent results although we didn’t know each other very well.                                             

                                                           A               B                     C                                         D
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the best answer to each of the following questions.  


Psychologists have debated a long time about whether a child’s upbringing can give it the ability to do outstandingly well. Some think that it is impossible to develop genius and say that  it is simply something a person is born with. Others, however, argue that the potential for great achievement can be developed. The truth lies somewhere between these two extremes. 

It seems very obvious that being born with the right qualities from gifted parents will increase a child’s ability to do well. However, this ability will be fully realized only with the right upbringing and opportunities. As one psychologist says, “To have a fast car, you need both a good engine and fuel.”

 Scientists have recently assessed intelligence, achievement, and ability in 50 sets of identical twins that were separated shortly after birth and brought up by different parents. They found that achievement was based on intelligence, and later influenced by the child’s environment. 

One case involving very intelligent twins was quoted. One of the twins received a normal  upbringing,  and  performed  well.  The  other  twin,  however,  was  brought  up  by extremely supportive parents and given every possible opportunity to develop its abilities. That twin, though starting out with the same degree of intelligence as the other, performed even better. 

This case reflects the general principle of intelligence and ability. The more favorable the environment, the more a child’s intelligence and ability are developed. However, there is no link between intelligence and the socioeconomic level of a child’s family. In other words, it does not matter how poor or how rich a family is, as this does not affect intelligence.

 Gifted people cannot be created by supportive parents, but they can be developed by them. One professor of music said that outstanding musicians usually started two or three years  earlier than  ordinary performers, often  because  their parents  had recognized  their ability. These musicians then needed at least ten years’ hard work and training in order to reach the level they were capable of attaining.

People who want to have very gifted children are given the following advice:  

· Marry an intelligent person.  

· Allow children to follow their own interests rather  than the interests of the parents. 

· Start a child’s education early but avoid pushing the child too hard.  

· Encourage children to play; for example, playing with musical instruments is essential for a child who wants to become an outstanding musician. 

Question 30: The upbringing of highly intelligent children requires             . 

    
A. an expensive education 
B. good musical instruments 

    
C. parental support and encouragement 
D. wealthy and loving parents  

Question 31:  The word “others” used in the first paragraph refers to              . 


A. other people        
B. other scientists
C. other children
D. other geniuses 

Question 32:  When scientists studied intelligence and ability in twins, they found  that             . 

    
A. ability depends mainly on intelligence and achievement 


B. intelligence and development are irrelevant to ability 

    
C. ability depends both on intelligence and on environment


D. different twins generally have different levels of ability. 

 Question 33: Scientists chose twins for their study because                . 

    
A. each twin has the same environment as his/her twin 

    
B. they are born into the same family, hence the same upbringing 

    
C. they have the same economic background and hence the same opportunities 

    
D. they have the same genetic background, usually with similar intelligence 

 Question 34: How were great musicians different from ordinary musicians in their development? 

    
A. Their ability was realized at an early stage and then nutured. 


B. They practice playing their instruments for many years. 

    
C. They concentrated on music to the exclusion of other areas.


D. They were exceptionally intelligent and artistic. 

 Question 35: The writer advises that gifted children should be allowed to follow 

. 

    
A. their own interests



B. their parent’s interests


C. only their interests in musical instruments



D. only their interests in computer games   

 Question 36: When encouraging their gifted children, parents should avoid            
. 


A. pushing their children too hard. 
           


B. letting them play their own way 

    
C. permitting them to follow their own interests     


D. starting their education at an early age 

 Question 37: The remark: “To have a fast car, you need both a good engine and fuel.”  in the passage means that in order to become a genius             . 

    
A. you need to have good health and good nourishment


B. you need intelligence and you need to develop it 

    
C. you should try to move quickly and efficiently


D. you must nourish your brain and train your muscles hard 

 Question 38: The word “favorable” in the passage mostly means          
. 

    
A. “good for someone and making him/her likely to be successful” 

    
B. “helping somebody to be more intelligent compared to other people” 

    
C. “of high quality or an acceptable standard”                                                                

    
D. “under the control or in the power of somebody else” 

 Question 39: All of the following statements are true EXCEPT

  .          
  

    
A. educational development depends completely on economic well-being 

    
B. a child’s intelligence is influenced by that of his/ her parents 

    
C. to become successful, a child needs both native intelligence and development 

    
D. studying different twins is a useful scientific procedure

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the best option for each of the blanks.   

      At 19, Ben Way was already a millionaire, and one of a number of teenagers who_____(40) their fortune through the Internet._____(41) makes Ben’s story all the more remarkable is that he is dyslexic, and was_____ (42)by teachers at  his junior school that he would never be able to read or write properly.” I wanted to prove them_____ (43)“, says Ben, creator and director of Waysearch engine which can be used to find goods in online shopping malls.

When he was eight, his local authorities_____(44) him with a PC to help with school work. Although he was_____ (45)to read the manuals, he had a natural ability with the computer, and encouraged by his father, he soon began_____(46) people $ 10 an hour for his knowledge and skills. At the age of 15 he _____(47) up his own computer consultancy, Quad Computer, which he ran from his bedroom, and two years later he left school to_____(48) all his time to business.


“By this time the company had grown and needed to take_____(49)   a couple of employees to help me”, says Ben. That enabled me to start doing business with bigger companies. It was his ability to consistently overcome difficult challenges that led him to win the “Young Entrepreneur of the year” award in the same year that he formed Waysearch.

 Question 40: A. taken

B. made

C. put


D. done

 Question 41: A. This

B. That


C. Something

D. What

 Question 42: A. said

B. told


C. suggested

D. reported

 Question 43: A. wrong
B. false

C. untrue

D. unfair

 Question 44: A. provided
B. gave

C. offered

D. got


 Question 45: A. imppossible
B. incapable

C. disabled

D. unable

 Question 46: A. owing
B. charging

C. lending

D. borrowing

 Question 47: A. put

B. ran


C. made

D. set

 Question 48: A. pay

B. spend

C. devote

D. invest

 Question 49: A. on

B. up


C. out


D. over

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions 

In the world today, particular in the two most industrialized areas, North America and Europe, recycling is the big news. People are talking about it, practicing it, and discovering new ways to be sensitive to the environment. Recycling means finding ways to use products a second time. The motto of the recycling movement is “Reduce, Reuse, Recycle”.


The first step is to reduce garbage. In stores, a shopper has to buy products in blister packs, boxes and expensive plastic wrappings. A hamburger from a fast food restaurant comes in lots of packaging: usually paper, a box and a bag. All that packaging is wasted resources. People should try to buy things that are wrapped simply, and to reuse cups and utensils. Another way to reduce waste is to buy high-quality products. When low-quality appliances break, many customers throw them away and buy new ones - a loss of more resources and more energy. For example, if a customer buys a high-quality appliance that can be easily repaired, the manufacturer receives an important message. In the same way, if a customer chooses a product with less packaging, that customer sends an important message to the manufacturers. To reduce garbage, the throw-away must stop.


The second step is to reuse. It is better to buy juices and soft drinks in returnable bottles. After customers empty the bottles, they return them to the stores. The manufacturers of the drinks collect bottles, wash them, and then fill them again. The energy that is necessary to make new bottles is saved. In some parts of the world, returning bottles for money is a common practice. In those places, the garbage dumps have relatively little glass and plastic from throw-away bottles.


The third step being environmentally sensitive is to recycle. Spent motor oil can be cleaned and used again. Aluminum cans are expensive to make. It takes the same amount of energy to make one aluminum can as it does to run a color TV set for three hours. When people collect and recycle aluminum (for new cans), they help save one of the world’s precious resources.   
Question 50:. Which area is considered one of the most industrialized?

A. South America
B. Middle East
C. Europe
D. Asia


Question 51: What does the word “sensitive” means?

A. cautious
B. logical
C. responding 
D. friendly            Question 52: The word “motto” is closest in meaning to _______. 

A. meaning
B. value
C. belief
D. reference 

Question 53: It is a waste when customers buy low-quality products because _______. 

A. they have to be repaired many times. 
B. they will soon throw them away


C. customers always change their idea   
D. they are very cheap.

.  

Question 54: What is the topic of the passage?

A. How to live sensitively to the environment.
B. How to reduce garbage disposal.

C. What is involved in the recycling movement. 
D. What people understand the term “recycle”

Question 55: People can do the following to reduce waste EXCEPT _______. 

A. buy high-quality products
B. buy simply-wrapped things

C. reuse cups

D. buy more hamburgers 

Question 56: What best describe the process of reuse?

A. The bottles are filled again after being returned, collected and washed.

B. The bottles are collected, washed, returned and filled again.

C. The bottles are washed, returned filled again and collected.

D. The bottles are collected, returned, filled again and washed.

Question 57: The word “practice” is closest in meaning to _______. 

A. training
B. exercise
C. deed
D. belief 

Question 58: Garbage dumps in some areas have relatively little glass and plastic because _______. 

A. people are ordered to return bottles 
B. returned bottles are few

C. each returned bottle is paid      
D. few bottles are made of glass or plastic 

Question 59: What are the two things mentioned as examples of recycling?

A. TV sets and aluminum cans.        
B. Hamburger wrappings and spent motor oil.

C. Aluminum cans and plastic wrappings.

D. Aluminum cans and spent motor oil. 
Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is SIMILAR in meaning to the underlined part in each of the following questions.

Question 60: His new work has enjoyed a very good review from critics and readers.

A. viewing
B. regard
C. opinion
D. look

Question 61: We'd better hurry up if we want to get there in time.

A. lie down
B. slow down
C. speed up
D. turn down

Question 62: Don’t forget to drop me a line when you’re away

A. telephone me
B. call me
C. write to me
D. send me a telegram

Question 63: Fruit and vegetables grew in abundance on the island. The islanders even exported the
surplus.

A. excess
B. large quantity
C. small quantity
D. sufficiency
Question 64: There is growing concern about the way man has destroyed the environment.

A. attraction
B. consideration
C. ease
D. speculation

WRITING:

I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it.

Question 65: It is believed that the man escaped in a stolen car.

      > The man………………………………………………………………………………………..

Question 66: We started working for this company seven years ago.

      > We have………………………………………………………………………………………..

Question 67: No body in my class is more intelligent than Mark.

      > Mark……………………………………………………………………………………………

Question 68: The test was very difficult. We couldn’t do it.

     > The test was so…………………………………………………………………………………

Question 69: But for your help, I couldn’t have finished my project.

> Had…………………………………………………………………………………………….

II. In about 140 words, write a paragraph about a person that you admire.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

---------THE END---------

ĐÁP ÁN

Phần I: Trắc nghiệm khách quan: (64 x 0,125 = 8 điểm)

	Question số
	Đáp án
	Question số
	Đáp án
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	Đáp án

	1
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	C
	47
	D
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	13
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	37
	B
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	17
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	18
	B
	40
	B
	62
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	19
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	41
	D
	63
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	20
	A
	42
	B
	64
	B

	21
	C
	43
	A
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	C
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WRITING( 2 điểm)

I: 0,5 điểm

Question 65: The man is believed to have escaped in a stolen car.

Question 66: We have been working/ have worked for this company for seven years.

Question 67: Mark is the most intelligent (student) in my class.

Question 68: The test was so difficult that we couldn’t do it.

Question 69:  Had you not helped me, I couldn’t have finished my project.
	TEST 3
	ĐỀ THI THPT QUỐC GIA NĂM 2015

MÔN THI: TIẾNG ANH 

Thời gian: 90 phút


Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronuciation in each of the following questions.
Question 1: A. candy 
B. sandy 

C. many 


D. handy

Question 2: A. chin 

B. chaos 

C. child 


D. charge

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
Question 3: A. rescue 
B. matter 

C. delete 


D. journey

Question 4: A. sensitive 
B. compliment

C. vertical 


D. assurance 

Question 5: A. visible  
B. solution 

C. surrounding 

D. arrival

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 6: Don't touch the cat. It may _____ you.

   A. kick 


B. tear 


C. scream 


D. scratch

Question 7: He said, "You ought _____ that library book back to the library"

   A. take 


B. taking 

C. to take 


D. to be taken

 Question 8:  Don’t worry! He’ll do the job as ___________ as possible.

A. economical


B. economically
C. uneconomically

D. beautifully

Question 9: My house is _____ from my office.

   A. near 


B. nearly

C. further 


D. far

Question 10: During our stay in Venice, we bought a ________ bottle.


A. glass lovely perfume 



B. lovely glass perfume  


C. lovely perfume glass  



D. glass perfume lovely

Question 11: They have demanded that all copies of the book ____.

   A. being destroyed 

B. be destroyed 
C. to be destroyed

D. would be destroyed.

Question 12:  If the doorbell rings, ____.

   A. the dog barks. 




B. The dog is barking 


   C. the dog would bark.



D. the dog barked.

Question 13: Daisy’s marriage has been arranged by her family. She is marrying a man _____.

 
A. she hardly knows him         


B. whom she hardly know   



C. she hardly knows 



D. that she hardly know

Question 14:  _____, the people who come to this club are in their twenties and thirties.

A. By and large 

B. Altogether 

C. To a degree 

D. Virtually
Question 15:  – “We’ll have to hurry if we want to finish this project on time.” - “________”.

A. OK. But I’ll call you later.


B. I’ll say we will!

C. I’m tired. I’ll go home early.


D. What a wonderful idea!
Question 16: The police are _____ an incident which took place this afternoon.


A. inspecting 

B. searching 

C. looking out 

D. investigating

Question 17: “________.” – “Thank you. We are proud of him.”

A. Your kid is naughty.



B. Can we ask your child to take a photo?

C. Your child is just adorable!


D. I can give your kid a lift to school.
Question 18: Janet is very modest, always __________ her success. 


A. keeping down    

B. turning around    
C. playing down      

D. pushing back 

Question 19: ____my personal qualities, I have experience of working in a multi-national company for three years. 


A. Beside           

B. In addition           
C. Instead of     

D. Apart from

Question 20: Many educationalists feel that continue_____ is fairer than formal examinations 


A. assessment 

B. cramming 

C. judgement 


D. assignment 

Question 21: When he retires at sixty, he’ll get a very good_____.


A. pay                      

B. salary                  
C. wage      


D. pension 

Question 22: It has been conclusively_____ that smoking causes many diseases. 


A. admitted 


B. established 

C. declared 


D. approved.

Question 23: You thought I did wrong, but the results ____ my action.


A. agree 
   B. correct 
C. justify 

D. approve

Question 24: He’ll be very upset if you ……………..his offer of help.

A. turn away 

B. turn from 
C. turn down 

D. turn against

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) SIMILAR in meaning to the underlined word(s) in each of the following questions.

Question 25: The lost hikers stayed alive by eating wild berries and frinking spring water. 

A. revived                  

B. surprised           
C. connived                        
D. survived 

Question 26: At every faculty meeting, Ms.Volatie always manages to put her foot in her mouth. 

A. trip over her big feet    
B. say the wrong thing C. move rapidly    

D. fall asleep. 

Question 27:  A television ad shows a busy baker with a new computer that the advertiser claims will help him “make dough”. 

A. a baking mixture            
B. more customers    
C. money                

D. bread  
Question 28: He didn’t bat a eye when he realized he failed the exam again. 

A. didn’t want to see   
B. didn’t show surprise C. wasn’t happy   

D. didn’t care

Question 29:  The situation seems to be changing minute by minute 

A. very rapidly   

B. from time to time 
C. again and again    

D. time after time. 

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question  30: The children were playing last night outdoors when it began to rain very hard.                                                                       

                                               A                               B                               C                     D

Question 31: She asked why did Mathew look so embarrassed when he saw Carole.

                          A                   B                          C                           D

Question 32: I’d prefer to do it on myself, because other people make me nervous.

               A                          B                          C                   D

Question 33: Could you mind telling me the way to the nearest restaurant?

               A                         B                       C            D

Question  34: There was a very interesting news on the radio this morning about the earthquake in Italy.                             

                              A       B                                    C                                         D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
The tourist industry is (35)_____ to be the largest industry. Before 1950 one million people traveled abroad each year but by the 1900s the figure (36) _____ to 400 million every year. (37) _____ large numbers of tourists, however, are beginning to cause problems. For example, in the Alps the skiers are destroying the mountains they came to enjoy. Even parts of Mount Everest in the Himalayas are reported to be covered (38) _____ old tins, tents, and food that have been (39) _____ But at a time when we have (40) _____ freedom to travel than ever before, more and more people are asking how they can enjoy their holidays (41) _____causing problems by spoiling the countryside. Now there is a new holiday (42) _____called "Holidays That Don't Cost The Earth". It tells you (43) _____you can help the tourist industry by asking your travel agent the right questions (44) _____you go on holiday.

Question 35: A. regarded 

B. considered 

C. seen 

D. figured

Question 36: A. had risen 

B. rose 

C. has risen 

D. were rising

Question 37: A. The 


B. Those 

C. These 

D. Such

Question 38: A. by 


B. with


C. under 

D. beneath
Question 39: A. disposed 

B. littered 

C. thrown away 
D. launched

Question 40: A. greater 

B. bigger 

C. larger 

D. better

Question 41: A. apart from 

B. instead of

C. without 

D. hardly

Question 42: A. guidance 

B. guide 

C. direction 

D. instruction

Question 43: A. where

B. what 

C. when 

D. how

Question 44: A. before 

B. when 

C. as soon as 
D. after

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 
     Although they are an inexpensive supplier of vitamins, minerals, and high-quality protein, eggs also contain a high level of blood cholesterol, one of the major causes of heart diseases. One egg yolk, in fact, contains a little more than two-thirds of the suggested daily cholesterol limit. This knowledge has caused egg sales to plummet in recent years, which in turn has brought about the development of several alternatives to eating regular eggs. One alternative is to eat substitute eggs. These egg substitutes are not really eggs, but they look somewhat like eggs when they are cooked. They have the advantage of having low cholesterol rates, and they can be scrambled or used in baking. One disadvantage, however, is that they are not good for frying, poaching, or boiling. A second alternative to regular eggs is a new type of egg, sometimes called 'designer' eggs. These eggs are produced by hens that are fed low-fat diets consisting of ingredients such as canola oil, flax, and rice bran. In spite of their diets, however, these hens produce eggs that contain the same amount of cholesterol as regular eggs. Yet, the producers of these eggs claim that eating their eggs will not raise the blood cholesterol in humans.

Egg producers claim that their product has been portrayed unfairly. They cite scientific studies to back up their claim. And, in fact, studies on the relationship between eggs and human cholesterol levels have brought mixed results. It may be that it is not the type of egg that is the main determinant of cholesterol but the person who is eating the eggs. Some people may be more sensitive to cholesterol derived from food than other people. In fact, there is evidence that certain dietary fats stimulate the body's production of blood cholesterol. Consequently, while it still makes sense to limit one's intake of eggs, even designer eggs, it seems that doing this without regulating dietary fat will probably not help reduce the blood cholesterol level.

Question 45:  What is the main purpose of the passage?

A. To introduce the idea that dietary fat increases the blood cholesterol level.

B. To inform people about the relationship between eggs and cholesterol.
C. To persuade people that eggs are unhealthy and should not be eaten

D. To convince people to eat 'designer' eggs and egg substitutes.
Question 46:  According to the passage, which of the following is a cause of heart diseases?

A. minerals
B. cholesterol
C. canola oil
D. vitamins

Question 47:  Which of the following could best replace the word 'somewhat'?

A. in fact
B. a little
C. indefinitely
D. a lot
Question 48:  What has been the cause for changes in the sale of eggs?

A. increasing price
B. decreased production
C. dietary changes in hens
D. concerns about cholesterol
Question 49:  According to the passage, one yolk contains approximately what fraction of the suggested daily limit for human consumption of cholesterol?

A. 3/4
B. 1/3
C. 1/2
D. 2/3

Question 50:  The word 'portrayed' could best be replaced by which of the following?

A. described 
B. destroyed
C. tested
D. studied

Question 51:  What is the meaning of 'back up'?

A. reverse
B. advance
C. block
D. support
Question 52:  What is meant by the phrase 'mixed results'?

A. The results are blended.
C. The results are a composite of things.
B. The results are inconclusive.
D. The results are mingled together.
Question 53:  According to the passage, egg substitutes cannot be used to make any of following types of eggs EXCEPT?

A. boiled
B. poached
C. scrambled
D. fried
Question 54:  According to the author, which of the following may reduce blood cholesterol?

A. decreasing egg intake and fat intake 
 B. increasing egg intake and fat intake
C. reducing egg intake but not fat intake

D. increasing egg intake but not fat intake

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
           The goal of Internet-based encyclopedia Wikipedia (www.wikipedia.org) is to give everyone on the planet access to information. Like other encyclopedias, Wikipedia contains lots of information: more than 2.5 million articles in 200 different languages covering just about every subject. Unlike other encyclopedias, however, Wikepedia is not written by experts, but by ordinary people. These writers are not paid and their names are not published. They contribute to Wikipedia simply because they want to share their knowledge.

           Encyclopedias began in ancient times as collections of writings about all aspects of human knowledge. The word itself comes from ancient Greek, and means “a complete general education”. Real popularity for encyclopedias came in the nineteenth century in Europe and the United States, with the publication of encyclopedias written for ordinary readers. With the invention of the CD-ROM, the same amount of information could be put on a few computer discs. Then with the Internet, it became possible to create an online encyclopedia that could be constantly updated, like Microsoft’s Encarta. However, even Internet-based encyclopedias like Encarta were written by paid experts. At first, Wikipedia, the brainchild of Jimmy Wales, a businessman in Chicago, was not so different from these. In 2001, he had the idea for an Internet-based encyclopedia that would provide information quickly and easily to everyone. Furthermore, that information would be available free, unlike other Internet encyclopedias at that time.

          But Wales, like everyone else, believed that people with special knowledge were needed to write the articles, and so he began by hiring experts. He soon changed his approach, however, as it took them a long time to finish their work. He decided to open up the encyclopedia in a radical new way, so that everyone would have access not only to the information, but also to the process of putting this information online. To do this, he used what is known as “Wiki” software (from the Hawaiian word for “fast”), which allows users to create or alter content on web page. The system is very simple: When you open the web site, you can simply search for information or you can log on to become a writer or editor of articles. If you find an article that interests you – about your hometown, for example – you can correct it or expand it. This process goes on until no one is interested in making any more changes.

Question 55:  Wikipedia is a(n) ____.  

A. book                            
B. journal
        
C. article
          
D. dictionary

Question 56:  Wikipedia is written by____.

A. paid written

B. millionaires
C. normal people       
D. world experts

Question 57:  The phrase “these writers” in the first paragraph refers to ____.

A. ordinary readers           

B. ordinary people         

C. encyclopedia experts 

D. every subject

Question 58:  The phrase “the word” in the second paragraph refers to____.

A. knowledge
B. encyclopedia
            C. writing
           D. collection

Question 59:  Microsoft’s Encarta is cited in the passage as an example of ____.

A. CD-ROM dictionary




B. printed encyclopedia

C. online encyclopedia




D. updateable online encyclopedia

Question 60:  The word “brainchild” in the second paragraph of the passage can be best replaced by____.

A. born
B. child


C. product

D. father

Question 61:  The word “approach” in the third paragraph of the passage means____.

A. idea
B. time


C. method

D. writing

Question 62:  The user of Wikipedia can do all of the following EXCEPT____.

A. have access to information                              

B. determinate the website          

C. modify information
 



D. edit information

Question 63:  We can say that Jimmy Wales____.

A. became very famous after the formation of Wikipedia   
B. is the father of Wikipedia

C. made a great profit from Wikipedia                                 
D. decides who can use Wikipedia

Question 64:  Wiki software enables ____.

A. exchanging articles           




B. a purchase of information                  

C. limited access                                           


D. editing

WRITING
Part I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it.
Question 65: I last had my hair cut when I left her.

> I haven’t…………………………………………………………………………………

Question 66: The tea was too hot for Peter to drink.

> The tea was so…………………………………………………………………………..
Question 67: It was the goalkeeper that saved the match for us.

>  Had ……. ………………………………………………………………………………

Question 68: “I’m sorry, I didn’t call you this morning” Tom said to Mary.

> Tom apologized………………………………………………………………………….

Question 69: Immediately after his arrival, things went wrong.

> No sooner ……………………………………………………………………………….

Part II: In about 140 words, write a paragraph about the value of music in the happiness of man.

………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

-----------THE END----------
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PHẦN TỰ LUẬN 

Part 1: (0,5 điểm)

Question 65: I haven’t had my hair cut since I left her
Question 66: The tea was so hot that Peter couldn’t drink it

Question 67: Had it not been for the goalkeeper, we would have lost the match.
Question 68: Tom apologized for not calling/having called Mary that morning
Question 69: No sooner had he arrived than things went wrong
Part 2: (1,5 điểm)

	TEST 4
	ĐỀ THI THPT QUỐC GIA NĂM 2015

MÔN THI: TIẾNG ANH 

Thời gian: 90 phút


PART I: MULTIPLE CHOICE QUESTIONS (8.0 POINTS)

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the followings.  

Question 1:  Few businesses are flourishing in the present economic climate.

A. taking off 

B. setting up


C. growing well 
D. closing down

Question 2:  The dog saw his reflection in the pool of water . 
     A. imagination 
B. bone 


C. leash 

D. image

Question 3:  At times, I look at him and wonder what is going on in his mind.

A. sometimes 

B. always 


C. hardly 

D. never

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the followings. 

Question 4:  We ought to keep these proposals secret from the chairman for the time being.

A. revealed 

B. frequented


C. accessible 

D. lively

Question 5:  They protested about the inhumane treatment of the prisoners.

A. vicious 

B. warmhearted 

C. callous 

D. coldblooded

 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

Question 6:  The Boeing 747 is twice ______ the Boeing 707.

A. bigger than 

B. more bigger than

 C. as big as 

D. as bigger as

Question 7:  I will stand here and wait for you ______ you come back.

A. because 

B. though 


C. so 


D. until

Question 8:  ______ poor always need the help from all people in the society.

A. An 



B.  


C. The


 D. A

Question 9:  Let’s begin our discussion now, ______?

A. shall we 


B. will we 

C. don’t we 

D. won’t we

Question 10:  Of all the factors affecting agricultural yields, weather is the one ______ the most.

A. that influences farmers 



B. farmers that is influences

C. why farmers influence it 



D. it influences farmers

Question 11:  It gets _______ to understand what the professor has explained.

A. the more difficult 




B. difficult more and more

C. more difficult than 




D. more and more difficult

Question 12:  I was doing my homework ______ the light went out.

A. after 

B. before


C. while 

D. when

Question 13:  My student practices ______ English with her friends every day.

A. speaking 

B. to speak 


C. spoke 

D. speak

Question 14:  John: “I’ve passed my final exam.”            Tom: “______”

A. That’s a good idea. 


B. Good luck.

C. It’s nice of you to say so. 


D. Congratulations!

Question 15:  There’s somebody walking behind us. I think we are ______..

A. followed 

B. being followed 

C. following 

D. being following

Question 16:  _______, we tried our best to complete it.

A. Thanks to the difficult homework 


B. Despite the homework was difficult

C. Difficult as the homework was 


D. As though the homework was difficult

Question 17:  It is necessary that children __________ of their old parents.

A. takes care 


B. to take care 

C. take care 

D. took care

Question 18:  ______ ten minutes earlier, you would have got a better seat. 

A. Had you arrived 



B. If you arrived

C. Were you arrived 



D. If you hadn’t arrived

Question 19:  The song has ______ been selected for the 22nd Sea Games, Vietnam.

A. officially 


B. office 

C. official 

D. officer

Question 20:  Edith Harlow has kindly agreed ______. You should ask him.

A. to helping 


B. to help 

C. help 

D. helping

Question 21:  People usually can get sufficient ______ of the calcium their bodies need from the food they consume.

A. variety 


B. source 

C. amount 

D. number

Question 22:  It is possible ______ may assist some trees in saving water in the winter.

A. to lose leaves 



B. that the loss of leaves

C. the leaves are lost 



D. when leaves have lost

Question 23:  Kitchen appliances called blenders became ______ in the 1930s, when Stephen B. Poplawski developed a machine that excelled at making his favorite drink.

A. establish 


B. established 


C. which establish

 D. establishing

Question 24:  In the preparation of fibrous material for production uses, stiff woody fibers from plants ______ fibers from animal sources.

A. the most heat the 


B. need, the more heat than

C. than more heat the 


D. need more heat than

Question 25:  A partnership is an association of two or more individuals who ______ together to develop a business

A. work 


B. working 


C. worked 

D. they work

Question 26:  Chosen as the nation’s capital at the end of the American Civil War, ______ the city of over a million people.

A. Washington, DC is now   



B. for Washington, DC,

C. Washington, DC,    



D. now in Washington, DC,

Question 27:  It is a top secret. You _______ tell anyone about it.

A. won't 


B. needn't 

C. mustn't 


D. mightn't

Question 28:  The cosmopolitan flavor of San Francisco is enhanced by ______ shops and restaurants.

A. ethnicity 


B. its ethnicity 
C. its many ethnic 

D. an ethnic

Question 29:  Studies indicate ______ collecting art today than ever before.

A. more people that are 




B. there are that more people

C. that there are more people 




D. people there are more

 

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions.   

The Winterthur Museum is a collection and a house. There are many museums devoted to the decorative arts and many house museums, but rarely in the United States is a great collection displayed in a great country house. Passing through successive generations of a single family, Winterthur has been a private estate for more than a century. Even after the extensive renovations made to it between 1929 and 1931, the house remained a family residence. This fact is of importance to the atmosphere and effect of the museum. The impression of a lived-in house is apparent to the visitor: the rooms look as if they were vacated only a short while ago whether by the original owners of the furniture or the most recent residents of the house can be a matter of personal interpretation. Winterthur remains, then, a house in which a collection of furniture and architectural elements has been assembled. Like an English country house, it is an organic structure; the house, as well as the collection and manner of displaying it to the visitor, has changed over the years. The changes have coincided with developing concepts of the American arts, increased knowledge on the part of collectors and students, and a progression toward the achievement of a historical effect in period-room displays. The rooms at Winterthur have followed this current, yet still retained the character of a private house.

The concept of a period room as a display technique has developed gradually over the years in an effort to present works of art in a context that would show them to greater effect and would give them more meaning for the viewer. Comparable to the habitat group in a natural history museum, the period room represents the decorative arts in a lively and interesting manner and provides an opportunity to assemble objects related by style, date, or place of manufacture.

Question 30:  What does the passage mainly discuss?

A. Historical furniture contained in Winterthur 
B. How Winterthur compares to English country houses

C. Elements that make Winterthur an unusual museum D. The reason that Winterthur was redesigned

Question 31:  The phrase "devoted to" in line 1 is closest in meaning to

A. specializing in B. sentimental about C. surrounded by D. successful in

Question 32:  What happened at Winterthur between 1929 and 1931? 

A. The old furniture was replaced 


B. The estate became a museum

C. The owners moved out 



D. The house was repaired

Question 33:  What does the author mean by stating "the impression of a lived-in house is apparent to the visitor"? 

A. Few people visit Winterthur

B. The furniture at Winterthur looks comfortable

C. Winterthur does not look like a typical museum

D. Winterthur is very old

Question 34:  The word "assembled" in line 9 is closest in meaning to

A. summoned 




B. appreciated

C. fundamentally changed 


D. brought together

Question 35:  The word "it" in line 10 refers to 

A. collection 




B. English country house

C. visitor 




D. Winterthur

Question 36:  The word "developing" in line 11 is closest in meaning to

A. evolving 


B. exhibiting 


C. informative 

D. traditional

Question 37:  According to the passage, objects in a period room are related by all of the following EXCEPT

A. place of manufacture 

B. date

C. past ownership 


D. style

Question 38:  What is the relationship between the two paragraphs in the passage?

A. Paragraph 2 explains a philosophy of art appreciation that contrasts with that explained in Paragraph 1.

B. Paragraph 2 explains a term that was mentioned in Paragraph 1.

C. Each paragraph describes a different historical period

D. Each paragraph describes a different approach to the display of objects in a museum

Question 39:  Where in the passage does the author explain why displays at Winterthur have changed?

A. lines 6-8 


B. lines 4-5 


C. lines 1-2 

D. lines 10-12

 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.  
Dinosaurs were reptiles that lived during a period of earth’s history called the Mesozoic Era, which is known as the Age of Reptiles. The first dinosaurs appeared more than 200 million years ago. For many millions of years, they dominated the land with their huge size and strength. Then about 65 million years ago, they died out rather suddenly, never to reemerge.

The word dinosaur comes from two Greek words meaning “terrible lizard”. Dinosaurs were not lizards, but their appearance could be truly terrifying. The biggest ones weighed more than ten times as much as a mature elephant and nearly equaled the size of most modern—day whales. The famous kinds of dinosaurs, including the brontosaur and tyrannosaurus rex, reached 80 to 90 feet in length. Not all dinosaurs were giants, however, some were actually no larger than a chicken.

Scientists still do not know what caused dinosaur to disappear. One theory involves a change in the earth’s climate. It is believed that temperature dropped significantly towards the end of the Cretaceous Period. Too large to hibernate and not having fur or feathers for protection, it is possible that the climate became too chilly for dinosaurs. In contrast, other species having protection, such as the mammals and birds, were able to survive.

Question 40:  What is the best title for this passage?

A. The Domination of the Land 
B. The Metabolism of Dinosaurs

C. Earth’s Largest Reptiles D. The History of Earth

Question 41:  It can be inferred from the passage that the Age of Reptiles lasted about

A. 200 million years 

B. 135 million years 

C. 80 million years 

D. 65 million years

Question 42:  The author uses the phrase “never to reemerge” to indicate that the dinosaurs

A. became extinct 

B. went into hiding 

C. never died out 

D. lost their way

Question 43:  According to the passage, what is true about the size of dinosaurs?

A. It made them the largest creatures ever on earth.

B. It varied quite greatly.

C. It guaranteed their survival.

D. It was rather uniform.

Question 44:  Which of the following can be inferred about mammals and birds.

A. Most have either fur or feathers over their bodies.

B. They preceded the dinosaurs.

C. They were too large to hibernate.

D. They could not survive the chilly temperatures.

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress. 

Question 45:  A. television 

B. information 
C. economic 

D. engineer

Question 46:  A. achievement 
B. argument 

C. confinement 
D. involvement

Question 47:  A. teacher 

B. prefer 

C. offer 

D. flower

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underline is pronounced differently from the rest. 

Question 48:  A. loved 

B. appeared 

C. agreed 

D. coughed
Question 49:  A. thereupon 

B. thrill 

C. threesome 

D. throne.

 

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 
Question 50:  Several (A)people have apparent (B) tried to change the man’s mind(C), but he refuses to listen(D).

Question 51:  Not until (A) I was on my way(B) to the airport that I realized(C) I had left my passport at home(D).

Question 52:  Students suppose(A) to read all the questions(B) carefully and find out(C) the answers to them(D).                      

Question 53:  The disposable(A) camera, a single- used camera(B) preloaded with print film(C) has appeared(D) in the late 1980s and has become very popular.

Question 54:  Public health(A) experts say that the money one spends avoiding illness(B) is less than the cost(C) of to treat sickness(D).

 

Read the following passage taken from Oxford Advanced Learner’s Dictionary, 8th edition, and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 55 to 64.   

John F Kennedy

(John Fitzgerald Kennedy 1917-1963) the 35th US President (1961–1963). He was the country’s youngest president and the first Roman Catholic ever ___(55) ___. He was ___(56) ___ known informally as Jack Kennedy and JFK. His wife was Jackie Kennedy. He won a medal for ___(57) ___ during World War II, and was elected to the US House of Representatives (1947–53) and then ___(58) ___ the US Senate (1952–60). 

Kennedy’s greatest success ___(59) ___ President was in ___(60) ____ the Cuban missile crisis and his worst failure was over the Bay of Pigs incident. He worked ___(61) ___ his brother, US Attorney General Robert Kennedy, to support the civil rights___(62) ___. He was murdered in Dallas, probably by Lee Harvey Oswald, in one of the most shocking events in US history. Some people believe that others were responsible for his murder, but ___(63) ___ has ever been ___(64) ___ proved. Kennedy’s book, Profiles in Courage (1956), won a Pulitzer Prize. 

“And so, my fellow Americans: ask not what your country can do for you – ask what you can do for your country.” 
John F Kennedy
Question 55:  A. to be electing 
B. elected 

C. electing 

D. to be elected

Question 56:  A. either 

B. too 


C. also 

D. as well

Question 57:  A. nerve 

B. audacity 

C. resolution 

D. courage

Question 58:  A. for 


B. to 


C. about 

D. on

Question 59:  A. the same 

B. like 


C. alike 

D. as

Question 60:  A. work on 

B. dealing with 
C. get over 

D. face with

Question 61:  A. beside 

B. upper 

C. with 

D. for

Question 62:  A. moving 

B. moved 

C. movement 

D. move

Question 63:  A. nothing 

B. something 

C. anything 

D. everything

Question 64:  A. deniably 

B. definitely 

C. positively 

D. categorically

 

  PART II. WRITING (2.0 POINTS)
 Rewrite the following sentences in order to keep their original meanings.

1. Mary is pretty but Camry is prettier. 

-> Camry is the …….. 

2. This is the best film I’ve ever seen.

-.> I’ve ……… 

3. My school has over 2,000 students.

-> There are …………

4. People say that the plane of Germanwings crashed into the mountains.

-> It is ………… 

5. He tries to learn English well so as to find a good job.

-> He tries to learn English well so ………… 

 

Write a paragraph about the job you like most about 150 words.

 …………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

THE END

ĐÁP ÁN:

A 2. D 3. A 4. A 5. B 6. C  7. D 8. C 9. A 10. A

11.D 12.D 13.A 14.D 15B 16C 17C 18A 19A 20B

21. C 22. B 23.B 24. D 25. A 26.A 27C 28C 29C

30C 31A 32D 33C 34D 35D 36A 37C 38B 39D

40B 41B 42A 43B 44A 45A 46B 47B 48D 49A

50B 51C 52A 53D 54D

55D 56C 57D 58B 59D 60B 61C 62C 63A 64B

Rewrite the following sentences in order to keep their original meanings.

1. Mary is pretty but Camry is prettier. 

-> Camry is the …….. (prettier of the two girls.)
2. This is the best film I’ve ever seen.

-.> I’ve ……… (never seen a better film than this (film).) or (I’ve never seen such a good film.)
3. My school has over 2,000 students.

-> There are …………(over 2,000 students in my school.)
4. People say that the plane of Germanwings crashed into the mountains.

-> It is ………… (It is said that the plane of Germanwings crashed into the mountains.)
5. He tries to learn English well so as to find a good job.

-> He tries to learn English well with ………… (a view to finding a good job.)
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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question1. Although they are identical twins, their teacher can easily ____ between them.


A. identify 
B. select 
C. differ 
D. distinguish

Question2.I was most ____ of his efforts to help me during the crisis.

A. appreciation
B .appreciable
C. appreciate

D. appreciative
Question3. John: “May I come in?”


              Peter: “________”


A. Feel free
B. Yes, no problem
C. You’re welcome
D. Sorry, let’s wait

Question4. If you go away, you ____ write to me, ____ you?


A. will/ won’t
B. do/ don’t 
C. will/ don’t 
D. will/ do

Question5. We have to start early ____ we’ll be late for school.


A. so that 
B. although 
C. or else
D. consequently

Question6.The smell of the sea ____ him ____ to his childhood.

A. took /back
B. brought/back
C. reminded/ of
D. called /off

Question7. The conference was organized for all of the ____ teachers in the city.


A. history
B. historic 
C. historical 
D. historian

Question8. We don’t sell foreign newspapers because there is no ____ for them


A. request 
B. requirement 
C. claim 
D. demand

Question9.He never____ his word.


A. goes back on
B. puts up with
C. makes up for
D. goes down with 
Question10. When I got up yesterday morning, the sun was shining, but the ground was very wet. It ____.


A. rained 
B. has been raining 
C. had rained 
D. had been raining

Question11. Someone ____ here recently: these ashes are still warm.


A. should be 
B. had to be 
C. must have been
D. might have been

Question12. ____ of applicants for this job ____ very big.


A. The number /is
B. A number /is  
C. A number /are 
D. The number /are  

Question13.The professor complimented a grade 1 pupil ____ his good achievement.

A. about
B. on
C. for
D. due to
Question14.____ your help, I wouldn’t have got the scholarship.


A. If I had had  
B. Had not it been for 
C.But for
D. Unless I had

Question15.____ man suffering from ____ shock should not be given anything to drink.


A. A/ the 
B.The/ a 
C. Ø/ a 
D.A/ Ø

Question16. The villagers strongly recommend that a new school ____ immediately.


A. must be built 
B. is going to be built 
C. be built
D. will be built

Question17. You thought I did wrong, but the results ____ my action.


A. agree 
B. correct 
C. justify
D. approve

Question18. It’s most unwise to ____ in a quarrel between a man and his wife.


A. involve 
B. go 
C. take part in 
D. interfere

Question19.The more she practices, ____ she becomes.

A. the most confidentB. the more confidentC. the greater confidence
D. more confidently
Question20. In today’s paper it ____ that we shall have an election this year.


A. says
B. admits 
C. expresses 
D. proposes

Question21.: John:  “Could you tell me how to get to the nearest post office?”    Peter: “________”


       A. Sorry for this inconvenience

         B. I have no clue 


 C. Not at all
D. Sorry, I’m a new comer here

Question22.The problem is difficult, therefore ____ students could answer it.

A. a great number of
B. a lot of
C. few
D. a few
Question23.____ he was kidnapped by the Iraqi guerrillas yesterday has been confirmed.


A. What 
B. If 
C. That
D. Ø

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 24. Power plants are increasingly located outside metropolitan areas.


 A. belonging to a big or capital city
B. in an industrial city



C. of a busy suburb

D. relating to a remote suburb  


Question 25.  Few businesses are flourishing in the present economic climate.



A. growing well
B. setting up
C. closing down 
D. taking off

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 26. Assessment instruments in nursery schools they featureitems and other materials different from those on elementary school tests.                                                     A                                  B                   C                         D

Question 27.All the witnesses said that John was blamingfor the accident.

                         A                              B                C                D

Question 28. Migrant workers live in substandardunsanitary, and dilapidated housing and often are lacking medical care.

                           A               B                                    C                                                                            D

Mark the letter A, B, C, or D to indicate the word (s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 29. 
We ought to keep these proposals secret from the chairman for the time being.


A. lively
B. frequented
C. accessible
D. revealed

Question 30. Now, when so many frogs were killed, there were more and more insects.


A. lesser and lesser
B. fewer and fewer
C. lesser and fewer
D. less and less

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 31.A. experience     B. maternal 
C. simplify
D. physician

Question 32.A. residential 
   B. repetition 
C. mountaineer 
D. television

Question 33.A. sequential
   B. mistake 
C. satisfy 
D. quality

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions 
Question 34. A. meat 


B. sweat 


C. leaf 



D. seat

Question 35. A. antibiotic 

B. pant 


C. ant 


D. want

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

Ever since humans inhabited the earth, they have made use of various forms of communication. Generally, this expression of thoughts and feelings has been in the form of oral speech. When there is a language barrier, communication is accomplished through sign language in which motions stand for letters, words, and ideas. Tourists, the deaf, and the mute have had to resort to this form of expression. Many of these symbols of whole words are very picturesque and exact and can be used internationally; spelling, however, cannot.


Body language transmits ideas or thoughts by certain actions, either intentionally or unintentionally. A wink can be a way of flirting or indicating that the party is only joking. A nod signifies approval, while shaking the head indicates a negative reaction.


Other forms of nonlinguistic language can be found in Braille (a system of raised dots read with the fingertips), signal flags, Morse code, and smoke signals. Road maps and picture signs also guide, warn, and instruct people.


While verbalization is the most common form of language, other systems and techniques also express human thoughts and feelings.

(Source: TOEFL Reading)

Question 36: Which of the following best summarizes this passage?


A. When language is a barrier, people will find other forms of communication.


B. Everybody uses only one form of communication.


C. Nonlinguistic language is invaluable to foreigners.


D. Although other forms of communication exist, verbalization is the fastest.

Question 37: The word "these" in paragraph1 refers to


A. tourists         B. the deaf and the mute          C. thoughts and feelings
  D. sign language motions

Question 38: All of the following statements are true EXCEPT


A. there are many forms of communication in existence today



B. verbalization is the most common form of communication


C. the deaf and mute use an oral form of communication


D. ideas and thoughts can be transmitted by body language

Question 39: Which form other than oral speech would be most commonly used among blind people?

A. Picture signs
B. Braille
C. Body language
D. Signal flags

Question 40: How many different forms of communication are mentioned here?


A. 5
B. 7
C. 9
D. 11

Question 41: The word "wink" in paragraph 2 means most nearly the same as


A. close one eye briefly

B. close two eyes briefly



C. bob the head up and down

D. shake the head from side to side

Question 42: Sign language is said to be very picturesque and exact and can be used internationally EXCEPT for


A. spelling
B. ideas


C. whole words
D. expressions

Question 43: People need to communicate in order to

       A. create language barriers
B. keep from reading with their fingertips


       C. be picturesque and exact
D. express thoughts and feelings

Question 44: What is the best title for the passage?

       A. The Important of Sign Language


       B. The Many Forms of Communication


       C. Ways of Expressing Feelings


       D. Picturesque Symbols of Communication

Question 45: Who would be MOST likely to use Morse code?


A. A scientist
B. An airline pilot
     C. A spy
D. A telegrapher

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

The goal of Internet-based encyclopedia Wikipedia (www.wikipedia.org) is to give everyone on the planet access to information. Like other encyclopedias, Wikipedia contains lots of information: more than 2.5 million articles in 200 different languages covering just about every subject. Unlike other encyclopedias, however, Wikepedia is not written by experts, but by ordinary people. These writers are not paid and their names are not published. They contribute to Wikipedia simply because they want to share their knowledge.

Encyclopedias began in ancient times as collections of writings about all aspects of human knowledge. The word itself comes from ancient Greek, and means “a complete general education”. Real popularity for encyclopedias came in the nineteenth century in Europe and the United States, with the publication of encyclopedias written for ordinary readers. With the invention of the CD-ROM, the same amount of information could be put on a few computer discs. Then with the Internet, it became possible to create an online encyclopedia that could be constantly updated, like Microsoft’s Encarta. However, even Internet-based encyclopedias like Encarta were written by paid experts. At first, Wikipedia, the brainchild of Jimmy Wales, a businessman in Chicago, was not so different from these. In 2001, he had the idea for an Internet-based encyclopedia that would provide information quickly and easily to everyone. Furthermore, that information would be available free, unlike other Internet encyclopedias at that time.

 But Wales, like everyone else, believed that people with special knowledge were needed to write the articles, and so he began by hiring experts. He soon changed his approach, however, as it took them a long time to finish their work. He decided to open up the encyclopedia in a radical new way, so that everyone would have access not only to the information, but also to the process of putting this information online. To do this, he used what is known as “Wiki” software (from the Hawaiian word for “fast”), which allows users to create or alter content on web page. The system is very simple: When you open the web site, you can simply search for information or you can log on to become a writer or editor of articles. If you find an article that interests you – about your hometown, for example – you can correct it or expand it. This process goes on until no one is interested in making any more changes.

Question 46:  Wikipedia is a(n) ____.  A. book
B. journal
        C. article
           D. dictionary

Question 47:  Wikipedia is written by____.

A. paid written
      B. millionaires
        C. normal people
           D. world experts

Question 48:  The phrase “these writers” in the first paragraph refers to ____.

A. ordinary readers              B. ordinary people           C. encyclopedia experts 
D. every subject

Question 49:  The phrase “the word” in the second paragraph refers to____.

A. knowledge
B. encyclopedia
         C. writing
           D. collection

Question 50:  Microsoft’s Encarta is cited in the passage as an example of ____.

A. CD-ROM dictionary
B. printed encyclopedia

C. online encyclopedia
D. updateable online encyclopedia

Question 51:  The word “brainchild” in the second paragraph of the passage can be best replaced by____.

A. born
B. child
C. product
D. father

Question 52:  The word “approach” in the third paragraph of the passage means____.

A. idea
B. time
C. method
D. writing

Question 53:  The user of Wikipedia can do all of the following EXCEPT____.

A. have access to information           

B. determinate the website

C. modify information
       D. edit information

Question 54:  We can say that Jimmy Wales____.

A. became very famous after the formation of Wikipedia                      B. is the father of Wikipedia

C. made a great profit from Wikipedia                                                   D. decides who can use Wikipedia

Question 55:  Wiki software enables ____.

A. exchanging articles           B. a purchase of information                  C. limited access
             D. editing

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks.    HELP ALWAYS AT HAND: A MOBILE IS A GIRL’S BEST FRIEND


If it fits inside a pocket, keeps you safe as well as in touch with your office, your mother and your children, it is (56)___ worth having. This is the (57)___ of the dwelling ranks of female mobile-phone users who are beginning to (58)___ the consumer market. Although Britain has been (59)___ to be one of the most expensive places in the world to run a mobile phone, both professional women and (60)___ mothers are undeterred. At first, the mobile phone was a rich man’s plaything, or a businessman’s (61)___ symbol. Now women own almost as many telephones as men do  - but for very different reasons. The main (62)___ for most women customers is that it provides a form of communications back-up, wherever they are, in case of  contingency. James Tanner of Tancroft Communications says: “The majority of people buying phones from us this year were women – often young women – or men who were buying for their mothers, wives and girlfriends. And it always seems to be a question of (63)___ of mind.” Size is also (64)___ for women. They want something that will fit in a handbag,” said Mr. Tanner. “The tiny phones coming in are having a very big (65)___ This year’s models are only half the size of your hand.”

Question 56. A. totally 
B. certainly
C. absolutely 
D. completely

Question 57. A. vision 
B. vista 
C. view
D. conception 

Question 58. A. master 
B. dominate
C. overbear 
D. command 

Question 59. A. demonstrated    B. seen                     C. established 
D. shown

Question 60. A. complete 
B. total 
C. absolute 
D. full-time

Question 61.A. status
B. fame 
C. power 
D. prestige 

Question 62.A. attraction
B. enticement 
C. charm 
D. lure 

Question 63. A. tranquility 
B. calmness 
C. peace
D. serenity 

Question 64. A. necessary 
B. crucial
C. urgent 
D. essential 

Question 64.A. impression B. perception 
C. impact
D. image 

WRITING

 1: Finish each of the following sentences in such a way that it mean the same as the sentence printed before it.

1. This is too hard a question for her to answer. 

( The question 


2. Since she was not certain of the way, she asked the policeman. 

( Not


3. She wanted to know if he had studied French. 

( She asked him “
”

4. I’m sorry that I didn’t study French last year. 

( I wish 


5. The children will go swimming if it is sunny. 

( Unless 


2. In about 140 words, write a paragraph about your last vacation holiday

------------------THE END-----------------

KEY

	1D
	2D
	3A
	4A
	5C
	6A
	7A
	8D
	9A
	10D

	11C
	12A
	13B
	14C
	15D
	16C
	17C
	18D
	19B
	20A

	21D
	22C
	23C
	24A
	25A
	26A
	27C
	28D
	29D
	30B

	31C
	32D
	33A
	34B
	35D
	36A
	37D
	38C
	39B
	40C

	41A
	42A
	43D
	44B
	45D
	46D
	47A
	48B
	49B
	50C

	51C
	52A
	53B
	54B
	55D
	56B
	57C
	58B
	59D
	60D

	61A
	62A
	63C
	64B
	65C


 1: Finish each of the following sentences in such a way that it mean the same as the sentence printed before it.

1. This is too hard a question for her to answer. 

( The question is too hard for her to answer

2. Since she was not certain of the way, she asked the policeman. 

( Not being certain of the way, she asked the policeman

3. She wanted to know if he had studied French. 

( She asked him “Have you studied French?”

4. I’m sorry that I didn’t study French last year. 

( I wish I had studied French last year

5. The children will go swimming if it is sunny. 

( Unless it is sunny, the children won’t go swimming 

	TEST 6
	ĐỀ THI THPT QUỐC GIA NĂM 2015

MÔN THI: TIẾNG ANH 

Thời gian: 90 phút


Mark the letter A, B, C, or D on your answer sheet to indicate the correctanswer to each of the following questions.
Question 1: We  _____ for three hours and are very tired.

     A. are walking        
B. have been walking
C. were walking
              D. had been walking 

Question 2: Thanks to the laser beams, at last, he could get rid of the __________birthmark on his face.

     A. normal

B. abnormal


C. abnormality  


D. abnormally

Question 3: ___________ from Bill, all the students said they would go.

    A.  Except

B.  Only

C.Apart


D. Separate

Question 4: Not until a monkey is several years old_________to exhibit signs of independence from its mother.

    A. beginning           
B. does it begin                        
C. and begin


D. it begins

Question 5: These days almost everybody________the danger of smoking.

    A. know of                
B. are aware of                        
C. is aware about

D. is aware of

Question 6: Had the drought not lowered the reservoir the ancient village__________

    A. wouldn't  be discovered  B. wouldn't have been discovered  

    C. can't have been discovered   D. can't be discovered

Question 7: It was not good to walk outside in ___________.

    A. such a fearful cold          B. such fear coldness       
C. such fearful cold

D. so fearful a cold

Question 8: Mary:  “Do you think it will rain? “          Jenny: “Oh! ________”

    A. I don’t hope.   
B. I hope not.                          
C. I don’t hope so  

D. It’s hopeless

Question 9: It is believed _____________ causes insomnia.

    A. too much caffeine which
   B. that too much caffeineC. it in too much caffeine 
D. too much caffeine that

Question 10: The train accident _____________ the other train’s departure by a few hours.

    A. sent back          
B. called off                                 
C. delayed
         D. retained

Question 11: Not only____  much bigger than any other planets, but unlike the planets, it consists completely of gaseous material.    A. Sun is                  B. the Sun, which is                   C. is the Sun

D. that the Sun

Question 12: - “ More coffee?, Anybody?”

- “ _________________.”


A. I don’t agree, I’m afraid
     B. Yes, I’d love to         C. Yes, please

D. It’s right, I think

Question 13: . ____________ to the national park before, Sue was amazed to see the geyser.

    A. Being not 

B. Not having been 

C.Have not been 

D. Having not been

Question 14: She has to pass all her exams or _____________she would have no holiday.

    A. instead             
B. else                                          C. therefore                           
D. though

Question 15: In America, when a woman and a man are introduced, shaking hands is up to a woman.

    A. depends on
B. replies on                              
C. waits on                          
D. congratulates on

Question 16: A few diseases are still_________in the world.

    A. treatable            
B. untreatable

C. treated

             D. untreated

Question 17: That beautiful girl died of an________morphine.

A. overweight       
B. overhear

              C. overdo

            D. overdose

Question 18: He ____________me to believe that they had left the district.

    A. made

B. led



  C. assured

            D. confirmed

Question 19: He was completely___________by her tale of hardship.

    A. taken away       
B. taken down 


  C. taken in

            D. taken up

Question 20: Uncle Ho’s desire was that our country might______other countries in the world.

    A. be fed up with     
B. make use of


C. keep pace with

D. take grand for
Question 21: Sarah is a young girl with________ and a straight nose.

    A. almond-shaped eyes
B. almond-eyed shape   C. eyes shaped almond       
D. almond-shape eyed

Question 22: You shouldn't ___________ to your teacher like that. It was very rude.

A. have talked

B. talk


C. have be talked

D. talked

Question 23: Don’t bother me while I___________.
    A. am working

B. was working

C. will work

           D. will have completed

Question 24: Oh, no! My wallet has been ____________

    A. robbed


B. picked

C. stolen

           D. theft
Question 25: There's someone at the door ________________it.

    A. I'm answering   

B. I answer

C. I'll answer


D. I answered

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 31 to 40.

The White House, the official home of the United States president, was not built in time for George Washington to live in it. It was begun in 1792 and was ready for its first inhabitants. President and Mrs. John Adams, who moved in on November 1, 1800. When the Adamses moved in, the White House was not yet complete, and the Adamses suffered many inconveniences; for example, the main staircase was incomplete, which hindered(cản trở) movement from floor to floor, and the future laundry yard was merely a pool of mud, so wet laundry was hung in the unfinished East Room to dry. Thomas Jefferson, the third president, improved the comfort of the White House in many respects and added new architectural features such as the terraces on the east and west ends.

When the British forces burned the White House on August 24, 1814, President Madison was forced to leave.All the remained after the fire was the exterior walls, the interior was completely destroyed. It was not until December of 1817 that the following president, James Monroe, was able to move into a rebuilt residence. Since then, the White House has continued to be modified but has been continuously occupied by each succeeding U.S president.

Question 26: Which of the following would be the most appropriate title for this text?
A. George Washington’s life in the White House.
B.The Early History of the White House.
C. The burning of the White House.              

D. Presidential Policies of Early U.S. Presidents.

Question 27: Why did George Washington not love in the White House?

A. It had been burned by the British.

B. He did not like the architectural features.

C. He did not want to suffer the inconveniences that the Adamses had suffered. 

D. Construction had not yet been completed.

Question 28: The word “inhabitant” in line 2 is closest meaning to____.

A. modifications
  B. moves 

C. celebrations 

D. residents
Question 29: It can be inferred from the passage that John Adams was_____.

A. the first president of the United States.
B. the second president of the United States.
C. the third president of the United States.
D. the fourth president of the United States.

Question 30: What of the White House was not yet complete when the Adamses moved in?

A. main staircase
B. laundry yard 

C. pool 


D.A and B

Question 31: The author most likely discusses the “staircase” in line 5 in order to____.

A. show the elegance of the new White House 

B. explain the architectural features added by Jefferson.

C. provide an example of an inconvenience in the White House.D. demonstrate what had to be rebuilt after the fire.

Question 32: The word “forces” in line 9 could best be replaced by:

A. military

B. effort 

C. power 

D. energy

Question 33: According to the passage, which of the following best describes Thomas Jefferson’s  tenure in the White House? A. He worked to improve the appearance and convenience of the White House.

B. He had to flee the White House because of the war with the British.
C. He removed the terraces that had been added by Adams.
D. He was accepting of the many inconveniences.

Question 34:According to the passage, when James Monroe came to the White House, it had been____.

A. repressed 

B. reconstructed
C. relocated 

D. reserved 

Question 35: The paragraph following the passage most likely discusses____.

A. the details of the destruction of the White House by the British.

B. James Monroe’s policies as presidents.
 C. modifications by  presidents who followed.


D. other presidents who were unable to occupy the White House.

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 36: A. invaluable

B. investigate

C. intimacy

D. intensity

Question 37: A. mathematics

B. history

C. literature 

D. physics
Question 38: A. weightless

B. popular 

C. beautiful    

D. tomorrow

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions 
Question 39. A. height
   
B. myth   

C. type   

D. climb

Question 40. A. says
    

B. said
    

C. fetch  

D. decade

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 41: A paragraph is a portion of a text consists of one or more sentencesrelated to the same idea.                                                                                                                  

                           A                                                B                                     C           D

Question 42:Chemical engineering is based on the principles of physics, chemists, andmathematics.
                                                               A             B                               C                       D

Question 43: I hadn’t understood his directions. However, I asked him to repeat what he’d said.

                                      A                                             B                C                                  D                                                                                                                                                  

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is closest in meaning to the underlined part in each of the following questions.
Question 44:  You ought to send two hours as a minimum in the fresh air every day.

A. at most

B. at all


C. at least

D. at ease

Question 45:  Sharks are  single – minded , and will usually ignore rescuers.

A. concentrate on only one purpose/aim …
B. are selfish
C. are cruel
D. attack suddenly

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 51 to 60.



ENVIRONMENTAL ACTIVISTS


Paul Watson is an environmental activist. He is a man who believes that he must do something, not just talk about doing something. Paul believes in protecting endangered animals, and he protects them in controversial ways. Some people think that Watson is a hero and admire him very much. Other people think that he is a criminal.


On July 16th, 1979, Paul Watson and his crew were on his ship, which is called the Sea Shepherd. Watson and the people who work on the Sea Shepherd were hunting on the Atlantic Ocean near Portugal. However, they had a strange prey(mồi, mẹo); instead of hunting for animals, their prey was a ship, the Sierra. The Sea Shepherd found the Sierra, ran into it and sank it. As a result, the Sierra never returned to the sea. The Sea Shepherd, on the other hand, returned to its home in Canada. Paul Watson and his workers thought that they had been successful.


The Sierra had been a whaling ship, which had operated illegally. The captain and the crew of the Sierra did not obey any of the international laws that restrict whaling. Instead, they killed as many whales as they could, quickly cut off the meat, and froze it. Later, they sold the whale meat in countries where it is eaten.


Paul Watson tried to persuade the international whaling commission to stop the Sierra. However, the commission did very little, and Paul became impatient. He decided to stop the Sierra and other whaling ships in any way that he could. He offered to pay $25,000 to anyone who sank any illegal whaling ship, and he sank the Sierra. He acted because he believes that the whales must be protected. Still, he acted without the approval of the government; therefore, his actions were controversial.


Paul Watson is not the only environmental activist. Other men and women are also fighting to protect the Earth. Like Watson, they do not always have the approval of their governments, and like Watson, they have become impatient. Yet, because of their concern for the environment, they will act to protect it.

Question 45: According to the reading, an environmental activist is someone who ____

     A. runs into whaling ship




B. does something to protect the Earth

     C. talks about protecting endangered species 


D. is a hero, like Paul Watson

Question 46: When something is controversial, ____

     A. everyone agrees with it




B. everyone disagrees with it

     C. people have different ideas about it


D. people protect it

Question 47: The members of a ship’s crew are ____.

     A. the men and women who work on the ship


B. the people who work on the airplanes

     C. all of the people on a ship, including the passengers       
D. the people who own the ship

Question 48: The main idea of paragraph one is that ____.

     A. Paul Watson is a hero to some people 


B. activists are people who do something

     C. Paul Watson is a controversial environmental activist
D. Paul Watson does not believe in talking

Question 49: The Sea Shepherd was hunting ____

     A. the Atlantic Ocean 
B. whales


C. the Sierra

D. Portugal

Question 50: The author implies that Paul Watson lives in ____

     A. Portugal


B. a ship on the Atlantic

C. the Sierra

D. Canada

Question 51: The captain and the crew of the Sierra were acting illegally because ____.

     A. they were not obeying international laws


B. they were whaling


     C. they were killing and selling whales 


D. All of the above are correct

Question 52: In paragraph 3 the phrase “and froze it” refers to ____.

     A. whale meat

B. the Sierra


C. whales                    D. the Sierra crew

Question 53: The main idea of paragraph 3 is that ____ .

     A. the Sierra sold whale meat in some countries
     B. the people on the Sierra didn’t obey international laws.

     C. the people on the Sierra killed as many whales as they could.     D. whaling is illegal according to international law.

Question 54: Watson ran into the Sierra because ____ .

     A. he wanted to stop the ship’s crew from whaling   B. he was impatient with the government’s actions

     C. he wanted to protect the whales from the whalers
     D. All of the above are correct


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks 

      Face-to-face conversation is two-way process: You speak to me, I reply to you and so on. Two-way (55)___depends on having a coding system that is understood by both (56)___ and receiver, and an agreed convention about (57)____ the beginning and end of the (58) ___. In speech, the coding system is the language like English or Spanish; the convention that one person speaks at a time may seem too obvious to (59)____. In fact, the (60)___ that people use in conversations and meetings are often non-verbal. For example, lowering the pitch of the voice may mean the end of a sentence; a sharp intake of breath may signal the desire to (61)____, catching the chairman’s (62)___may indicate the desire to speak in a formal setting like a (63)___, a clenched fist may indicate anger. When these (64)___ signals are not possible, more formal signals may be needed.

Question 55: A. interchange

B. exchange


C. correspondence
D. communication
Question 56: A. announcer

B. transmitter


C. messenger

D. sender
Question 57: A. signing

B. symbolizing


C. signalling

D. showing
Question 58: A. message

B. topic


C. idea


D. theme
Question 59: A. judge


B. mention


C. recognize

D. notice
Question 60: A. signals

B. symptoms


C. symbols

D. signs
Question 61: A. interchange

B. interfere


C. interrupt

D. intercept
Question 62: A. elbow


B. eye



C. shoulder

D. hand
Question 63: A. chat


B. debate


C. broadcast

D. lecture
Question 64: A. visual


B. auditory


C. verbal

D. sensory

WRITING

1: Finish each of the following sentences in such a way that it mean the same as the sentence printed before it.

1. Please don’t say things like that. 

( I wish


2. It would have been a superb weekend if it hadn’t been for the weather. 

( But


3. Dogs can swim better than cats can. 

( Cats can not


4. She hasn’t been to the hair dresser for three months. 

( It’s


5. There’s a spare bed in David’s room. 

( David’s room


2. In about 140 words, write a paragraph about the person you admire most

---------- THE END -------

KEY

	1B
	2A
	3C
	4B
	5D
	6B
	7C
	8B
	9B
	10C

	11C
	12C
	13B
	14B
	15A
	16B
	17D
	18B
	19C
	20C

	21A
	22A
	23A
	24C
	25C
	26B
	27D
	28D
	29B
	30D

	31C
	32A
	33A
	34B
	35C
	36C
	37A
	38D
	39B
	40D

	41B
	42C
	43B
	44C
	45B
	46C
	47A
	48C
	49C
	50D

	51D
	52A
	53B
	54D
	55D
	56D
	57C
	58A
	59B
	60A

	61C
	62B
	63B
	64A


1: Finish each of the following sentences in such a way that it mean the same as the sentence printed before it.

1. Please don’t say things like that. 

( I wish I didn’t say things like that

2. It would have been a superb weekend if it hadn’t been for the weather. 

( But for the weather, It would have been a superb weekend

3. Dogs can swim better than cats can. 

( Cats can not swim as well as dogs can

4. She hasn’t been to the hair dresser for three months. 

( It’s 3 months since she had her hair cut

5. There’s a spare bed in David’s room. 

( David’s room has a spare bed

	TEST 7
	ĐỀ THI THPT QUỐC GIA NĂM 2015

MÔN THI: TIẾNG ANH 

Thời gian: 90 phút


Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct word for each of the blanks.

Looking for an unforgettable way to celebrate that special occasion? Well, the (1)__of options open today’s youngster – or even “ oldster” for that matter, is a far cry from the traditional party or restaurant visit. No longer is it (2)__sufficient to invite your friends round , buy some food and get a barker to produce a cake. No, today’s birthday boy or girl is looking for something out of the ordinary, ranging from the (3)__ expensive to the downright dangerous. Anything goes, as long as it is unusual and impressive.

Top of this year ‘s popular (4)__are as follows: taking some friends rally driving , helicopter lessons, plane trip and parachuting , and hot air ballooning . Then there is always group bungee jumping or taking your buddies on a stomach – churning , while water rafting (5)__down rapids.

The desire of adventurous celebration is not restricted to the (6)__. I recently met an octogenarian who celebrated (7)__the milestone of eighty by having a fly lesson.

Of course, if you have money the world is your oyster. A very rich relation of mine flew fifty of his friends to a Caribbean island to mark the passing of his half century. Unfortunately I was only a (8)__relation.

Undoubtedly, the more traditional forms of celebration do continue to (9)__the less extravagant or less adventurous among us. However, with my own half century looming on the horizon I would not say no to a weekend in Paris and a meal at the Eiffel Tower. I can (10)__dream. Perhaps by the time I’m eighty I’ll be able to afford it.

Question 1: A. scale


B. degree

C. range

D. variance

Question 2: A. hoped


B. decided

C. marked

D. considered

Question 3: A. perfectly

B. dearly

C. outrageously
D. explicity

Question 4: A. experiments 

B. extravagances.
C. exposures

D. expenses

Question 5: A. ride


B. travel

C. voyage

D. crossing

Question 6: A. adolescents

B. teenagers

C. youth

D. young

Question 7: A. attaining         

B. arriving

C. reaching

D. getting

Question 8: A. distant


B. remote

C. faraway

D. slight

Question 9: A. pacify


B. satisfy

C. distract

D. absorb

Question 10:A. however        

B. but


C. nevertheless

D. anyway

Mark the letter A,B,C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 11: A. invalid          

B. predict

C. pretend

D. preface

Question 12: A. mausoleum

B. conservative
C. disqualify

D. magnificant

Question 13: A. nuclear

B. province

C. construct

D. complex

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest ones

Question 14: A. amused 

B. supposed      
C. expressed  

D. pleased
Question 15: A. account       

B. south       

C. southern

D. amount
Mark the letter A,B,C, or D on your answer sheet to indicate the word  or phrase that could best replace the underlined part without changing the meaning of the sentence 

Question 16: Hypertension is one of the most widespread and potential dangerous diseases

A. colossal

B. popular

C. common

D. scattered

Question17 : In the United States, a party can nominate a single candidate for office

A. refuse

B. keep


C. change

D. name

Question 18 : The sales of drugs is controlled by law in most of countries

A. permitted

B. restricted

C. illegal

D. binding 

Question 19: I told you clearly and definitely not to write your answers in pencil, Smith!

A. considerably

B. thoroughly

C. altogether

D. specificially

Question 20 : A brief outlined of the course and bibliography were handed out to the students at the first meeting

A. dispensed

B. dispered

C. distributed


D. contributed

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions

One of the seven wonders of the ancient world, the Great Pyramid of Giza was a monument of wisdom and prophecy built as a tomb for Pharaoh Cheops in 2720 B.C . Despite its antiquity, certain aspects of its construction makes it one of the truly wonders of the world. The thirteen- acre structure near the Nile river is a solid mass of stone blocks covered with limestone. Inside are the number of hidden passageways and the burial chamber of the Pharaoh. It is the largest single structure in the world. The four sides of the pyramid are aligned almost exactly on true north, south, east and west-an incredible engineering feat. The ancient Egyptians were sun worshippers and great astronomers, so computations for the Great Pyramid were based on astronomical observations.

Explorations and detailed examinations of the base of the structure reveal many intersecting lines. Further scientific study indicates that these represent a type of timeline of events – past, present and future. . Many of the events have been interpreted and found to coincide with known facts of the past. Others are prophesied for future generations and are currently under investigation. Many believe that pyramids have supernatural powers and this one is no exception. Some researchers even associate it with extraterrestrial beings of ancient past.

Was this superstructure made by ordinary beings, or one built by a race far superior to any known today?

Question 21: What has research of the base revealed?

A.there are cracks in the foundation

B. Tomb robbers have stolen the Pharaoh’s body

C. The lines represent important events

D. A superior race of people built in

Question 22: Extraterrestrial beings are___.

A. very strong workers


B. astronomers in the ancient times

C. researchers in Egyptology

D. living beings from other planets

Question 23:What was the most probable reason for providing so many hidden passages

A.To allow the weight of the pyramid to settle evenly
B. To permit the high priests to pray at night

B. To enable the Pharaoh’s family to bring food for his journey to the afterlife

D. To keep grave robbers from finding the tomb and the treasure buried with the pharaoh

Question 24: The word feat in the first paragraph is closet in meaning to ____.

A. accomplishment

B. Appendage

C. festivity

D. structure

Question 25: What do the intersecting lines in the base symbolize?

A.Architects’plan for the hidden passages
B. Pathways of the great solar bodies

C. Astrological computations


D. Dates of important events taking place throughout time

Question 26 : In the second passage , the word ‘ prophesied’ is closest in meaning to ____.

A. affiliated

B. precipitated

C. terminated

D. foretold

Question 27: What is the best title for the passage?

A.Symbolism of the Great Pyramid

B. Problems with the Construction of the Great Pyramid

C. Wonders of the Great Pyramid of Giza
D. Exploration of the Burial Chamber of Cheops

Question 28: On what did the ancient Egyptians base their calculations?


A. Observation of the celestial bodies
B. Advanced technology


C. Advanced tools of measurement
D. knowledge of the earth’s surface

Question 29: Why was the Great Pyramid constructed?


A. As a solar observatory


B. As a religious temple


C. As a tomb for the Pharaoh

D. as an engineering feat

Question 30:Why is the Great Pyramid of Giza considered one of the seven wonders of the world?

A.it is perfectly aligned with the four cardinal points of the compass and contains many prophecies

B. It was selected of the tomb of Pharaoh Cheops   C. It was built by a super race    D. It is very old

Mark the letter A, B, C, or D on your answer sheet to indicate the  correct answer to each of the following question 

Question 31 :Nobody could have predicted that the show would arouse so much interest and that over two hundred people ___ away. A. would have turned

B. would turn
C. had been turned 
D. would have to be turned

Question 32: ___ he was good at physics in lower grade, he was terrible at it in grade 12

A. While

B. Although

C. When

D. Except that

Question 33: It is better to try to work ___ rather than against Nature

A. for


B. with


C.by


D. along

Question 34: In the years ___ all the trees will disappear if nothing is done to protect them

A. come

B. coming

C. to come

D. will come

Question 35: Large numbers of Americans watch and participate in sports activities,___  a deeply in grained part of American life.   A. which is
B. which are

C. that is

D. that makes

Question 36: The accused ___guilty to all charges.

A. pleaded

B. admitted

C. said


D. confessed

Question 37: Mrs. Archer is known ___ the finest collection of twentieth century art in private hands

A. as have

B. having

C. by having

D. to have

Question 38: Mark is nearsighted. He ___ glasses ever since he was ten years old

A. should have worn
B. must wear

C. need wear

D. has had to wear

Question 39: I like your new car. What ___ is it?

A. brand

B. name

C. label


D. make

Question 40: It___ able to finish it in an hour.

A. couldn’t be too hard if you are

B. can’t have been too hard if you were

C. can’t have been too hard if you had been
D. couldn’t be too hard if you had been 

Question 41 : “ Let’s have supper now. “    -“______”

A. You aren’t eating
B. I won’t

C. There aren’t any
D. Bill isn’t here

Question 42: ___ an emergency arise, call 911

A. Should

B. Can


C. Does


D. Will

Question 43: ___ in business, one must be prepared to take risks

A. Succeeding

B. Success

C. To succeed

D. Succeed

Question 44: I don’t like this wine. I like ___.

A.  some other

B. another

C. other


D.  the  other

Question 45: The house is found ___ down

A. to burn 

B. burning

C. having burned
D. to have been burned

Question 46: Please look through these papers ___ your pleasure

A. on


B. in


C. for


D. at

Question 47: Only in the last few days ___ to repair the swimming pool

A. anything has been doneB. has done anythingC. has anything been doneD. has there anything been done

Question 48: “Hello, I’d like to speak to Mr. Green, please “ – “______”

A. Sorry, can you say that again?

B. I’m sorry, I’ll call again later

C. I’m afraid I don’t know


D. Let’s wait

Question 49 :___ percent in the population of Canada speak English?

A. How many

B. How much

C. What

D. Which

Question 50 : ‘’ Would you mind turning down your stereo ?’’   - “______”

A. I’m really sorry! I ‘m not paying attention

B. Oh! I’m sorry! I didn’t realize that

C. No. I don’t





D. Yes, I do 

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions .

Baseball evolved from a number of different ball-and stick games (paddle ball, trap ball, one-old-cat, rounders, and town ball) originating in England. As early as the American Revolution. It was noted that troops played “baseball” in their free time. In 1845 Alexander Cartwright formalized the New York Knickerbockers’ version of the game: a diamond shaped infield, with bases ninety feet apart, three strikers – you’re – out , batter out on a caught ball , three outs per inning , a nine man team. “The New York Game” spread rapidly , replacing earlier localized forms. From its beginnings, baseball was seen as a way of satisfying the recreational needs of an increasingly urban – industrial society. At its inception it was it was played by and for gentlemen. A club might consists of 40 members. The president would appoint two captains who would choose teams from among the members. Games were played on Monday and Thursday afternoons, with the losers often providing a lavish evening’s entertainments for the winners

 During the 1850- 70 period the game was changing, however, with increasing commercialism (charging admission), under – the – table payments to exceptional to players, and gambling on the outcome of games. By 1868 it was said that a club would have their regular professional ten, an amateur first - nine , and their” muffins “ (the gently duffers who once ran the game) . Beginning with the first openly all – salaried team (Cincinnati’s Red Stocking Club) in 1869, the 1870- 1890 period saw the complete professionalization of baseball, including formation of the National Association of Professional baseball players in 1871. The National League of Professional Baseball Clubs was formed in 1876, run by business-minded invertors in joint-stock company clubs. The 1880s has been called Major League Baseball’s “Golden Age”. Profits soared, player’s salaries rose somewhat, a season of 84 games became one of 132, a weekly periodical “ The sporting News” came into being, wooden stadiums with double-deck stands replaced open fields, and the standard refreshment became hot dogs, soda pop and peanuts. In 1900 the Western League based in the growing cities of the Mid-west proclaimed itself the American League.

Question 51: What is the passage mainly about?

A. the origin of baseball


B. the commercialization of baseball

C. the influence of the “New York Game” on baseballD. the development of baseball in the nineteenth century

Question 52: Which of the following can be inferred from the passage?

A. the wealthy gentlemen who first played baseball, later needed to find another recreational opportunity if they did not want to mix with other or become a “muffin”

B. hot dogs would not have become as popular as they did, without the professionalism and commercialism  that develop in baseball



C. the “New York “spread rapidly because it was better formalized 

D. business – minded investors were only interested in profits

Question 53: The word “ inception” in line 8 is closest in meaning to ____.

A. requirements


B. beginning

C. insistence

D. rules

Question 54: The word “ lavish “ in line 11 is closest in meaning to____.

A. prolonged


B. very generous
C. grand

D. extensive

Question 55:Which of the following is true of the way the game was played by wealthy gentlemen at its inception?

A. a team might consist of 40 members



B. the president would choose teams from among the members

C. they didn’t play on weekend



D. they might be called “duffers” if they didn’t make the first nine

Question 56 : According to the second paragraph , all of the following are true except____.

A. commercialism became more prosperous  
B. the clubs are smaller

C. outstanding players got extra  income

D. people gamed on the outcome of games

Question 57 : Which of the following is NOT mentioned as a feature of the 1880s “ Golden Age”?

A. wooden stadiums replaced open fields


B. a weekly periodical commenced

C. the National Association of Professional Baseball Players was formed



D. profits soared

Question 58: The word” somewhat”  in line 21 is closest in meaning to ____.

A. to a significant extentB. to a minor extentC. to not the same extent

D. to some extent

Question 59: The word “itself”  in line 24 refers to____.

A. the Western League
B. growing citiesC. the Midwest


D. the American League

Question 60: Where in the passage does the author first mention payments to players?

A. lines 4-7

B. lines 8-10

C. lines 11-14

D. 15- 18

Mark the letter A,B,C, or D on your answer sheet to indicate the underlined part following that needs correcting 
Question 61 :At the rate the clerks were processing the applications. Joe figured that it will take  four hours for his to be reviewed              

Question 62:Professor Layton was equally fond of the two children, but he had to admit that he found the youngest an easier child  to handle



Question 63: In order to become a law, a bill must be passed not only by the Senate but also the House of Representatives

Question 64:  Automobile began to be equipped by built-in radios around 1930

WRITING

I. PART 1: Finish each of the following sentences in such a way that it mean the same as the sentence printed before it.

1. Those pictures are beautiful. 

( How


2.Although he had a good salary, he was unhappy in his job. 

( In spite 


3.Susan felt sick, because she ate four cream cakes. 

( If Susan


4.She and I have never been there before.

( Neither 


5.It was such a good weather that we went swimming. 

( The weather 


II. In about 140 words, write a paragraph about the kind of job you would like to do after you finish your education. 

------------THE END-----------
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 1: Finish each of the following sentences in such a way that it mean the same as the sentence printed before it.

1. Those pictures are beautiful. 

( How beautiful those pictures are

2. Although he had a good salary, he was unhappy in his job. 

( In spite having a good salary, he was unhappy in his job

3. Susan felt sick, because she ate four cream cakes. 

( If Susan hadn’t eaten four cream cakes, she wouldn’t have felt sick

4. She and I have never been there before.

( Neither She nor I have been there before

5. It was such a good weather that we went swimming. 

( The weather was so good that we went swimming

	TEST 8
	ĐỀ THI THPT QUỐC GIA NĂM 2015

MÔN THI: TIẾNG ANH 

Thời gian: 90 phút


Mark the letter A, B, C, or D to indicate the word or phrase that is OPPOSITE in meaning to the italic part in each of the following questions.

Question 1:  Henry has found a temporary job in a factory.

A. eternal
B. genuine
C. permanent
D. satisfactory

Question 2:  Mr. Smith’s new neighbors appear to be very friendly.

A. amicable
B. inapplicable
C. hostile
D. futile

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 3: A. punctuality
B. technological
C. characteristic
D. representative

Question 4: A. equip
B. vacant
C. secure
D. oblige

Question 5: A. effectiveness
B. accountancy
C. satisfaction
D. appropriate

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 6:  We _______ today and I got into trouble because I hadn't done it.

A. were checked our homework
B. had our homework checked
C. have our homework checking
D. had checked our homework
Question 7:  You can go to the party tonight _______ you are sober when you come home.

A. as long as
B. as far as
C. as soon as
D. as well as

Question 8:  She must _______ in the garage when we came that's why she didn't hear the bell.

A. have been working
B. be working
C. have worked
D. work
Question 9:  I'm sorry, but I've got _______ much work to do to come to the beach today.

A. too
B. such
C. enough
D. so
Question 10:  It’s essential that every student _______ the exam before attending the course.

A. passes
B. would pass
C. passed
D. pass

Question 11:  I decided to go to the library as soon as I _______.

A. would finish what I did
B. finished what I did

C. finished what I was doing
D. finish what I did

Question 12:  Ancient Egyptians mummified the dead bodies through the use of chemicals, _______ ancient Peruvians did through natural processes.

A. because
B. whereas
C. whether or not
D. even though

Question 13:  Please cut my hair _______ the style in this magazine.

A. the same length like
B. the same length as

C. the same long like
D. the same long as

Question 14: _______ in this national park declined from a few thousand to a few hundred in ten years.

A. For a number of tigers
B. The number of tigers

C. A number of tigers
D. That the number of tigers

Question 15: _______, he would have been able to pass the exam.

A. Studying more
B. Had he studied more

C. If he studied more
D. If he were studying more

Question 16:   Mark: -“_______”

Helen: “Oh, thank you. I just got it yesterday.”

A. What a beautiful dress you have on!

B. How a beautiful dress you’re wearing!

C. You’ve just bought this beautiful dress, haven’t you?

D. When have you got this beautiful dress?

Question 17:  Fire safety in family houses, _______ most fire deaths occur, is difficult.

A. how
B. when
C. why
D. where

Question 18:  _______ of the financial crisis, all they could do was hold on and hope that things would improve.

A. In the end
B. At the height
C. On the top
D. At the bottom

Question 19:  When I got my case back, it had been damaged _______ repair.

A. over
B. further
C. above
D. beyond

Question 20:  We intend to _______ with the old system as soon as we have developed a better one.

A. do up
B. do in
C. do away
D. do down
Question 21:  _______ that she burst into tears.

A. So angry was she
B. Such her anger
C. She was so anger
D. Her anger was so
Question 22:  We regret to tell you that the materials you ordered are _______.
A. out of reach
B. out of practice
C. out of stock
D. out of work
Question 23:  Do you remember Daisy? I ran _______ her at the Fair yesterday.

A. by
B. down
C. across
D. in

Question 24: – “I think we should recycle these bags. It will help protect the environment.” 

                  – “_______”

A. Never mind
B. I can’t agree with you more

C. You can say that again
D. It’s rubbish. We shouldn’t use it.

Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correcting.

Question 25:  Children’s games, which are amusements (A) involve more than one individual, (B) appear to be                                                                  (C) culturally (D) universal.

Question 26:  When I (A) came back I (B) realized that (C) my camera (D) had been disappeared.
Question 27:  If (A) either of you (B) take a vacation now, we (C) won’t be able (D) to finish this work.
Question 28:  Among the (A) world’s 44 (B) richest countries, (C) there has been (D) not war since 1945.
Question 29:  (A) What we know about certain diseases (B) are still not sufficient to prevent them (C) from spreading easily (D) among the population.

Mark the letter A, B, C or D to indicate the word or phrase that is CLOSEST in meaning to the italic part in each of the following questions.

Question 30: The lost hikers stayed alive by eating wild berries and drinking spring water.

A. revived
B. surprised
C. connived
D. survived

Question 31:  Father has lost his job, so we’ll have to tighten our belt to avoid getting into debt.

A. earn money
B. save money
C. sit still
D. economize

Question 32:  She was brought up in a well-off family. She can’t understand the problems we are facing.

A. wealthy
B. kind
C. broke
D. poor

Question 33: The Civil War in 1863 cut the United States into two nations - a southern Confederacy and a northern  Union. 

(A) severed


(B) acknowledged

(C) integrated

(D) alienated

Question 34:  Relaxation therapy teaches one not to fret over small problems .

(A) worry about

(B) get angry about

(C) get involved in
(D) look for

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

The modern comic strip started out as ammunition in a newspaper war between giants of the American press in the late nineteenth century. The first full-color comic strip appeared in January 1894 in the New York World, owned by Joseph Pulitzer. The first regular weekly full-color comic supplement, similar to today’s Sunday funnies, appeared two years later, in William Randolph Hearst’s rival New York paper, the Morning Journal.

Both were immensely popular and publishers realized that supplementing the news with comic relief boosted the sale of papers. The Morning Journal started another feature in 1896, the “Yellow Kid”, the first continuous comic character in the United States, whose creator, Richard Outcault, had been lured away from the World by the ambitious Hearst. The “Yellow Kid” was in many ways a pioneer. Its comic dialogue was the strictly urban farce that came to characterize later strips, and it introduced the speech balloon inside the strip, usually placed above the characters’ heads.

The first strip to incorporate all the elements of later comics was Rudolph Dirks’s “Katzenjammer Kids”, based on Wilhelm Busch’s Max and Moritz, a European satire of the nineteenth century. The “Kids” strip, first published in 1897, served as the prototype for future American strips. It contained not only speech balloons, but a continuous cast of characters, and was divided into small regular panels that did away with the larger panoramic scenes of earlier comics.

Newspaper syndication played a major role in spreading the popularity of comic strips throughout the country. Though weekly colored comics came first, daily black-and-white strips were not far behind. The first appeared in the Chicago American in 1904. It was followed by many imitators, and by 1915 black-and-white comic strips had become a staple of daily newspapers around the country.

Question 35:  In what order does the author discuss various comic strips in the passage?

A. In the order in which they were created.

B. From most popular to least popular.

C. According to the newspaper in which they appeared.

D. In alphabetical order by title.

Question 36: According to the passage, the “Yellow Kid” was the first comic strip to do all of the following EXCEPT _______.

A. feature the same character in each episode
B. include dialogue inside a balloon

C. appear in a Chicago newspaper
D. characterize city life in a humorous way

Question 37: The word “prototype” is closest in meaning to _______.

A. model
B. story
C. humor
D. drawing

Question 38: The word “staple” is closest in meaning to _______.

A. new version
B. huge success
C. regular feature
D. popular edition

Question 39:   The word “incorporate” is closest in meaning to _______.

A. combine
B. mention
C. create
D. affect

Question 40: Why does the author mention Joseph Pulitzer and William Randolph Hearst?

A. Their comic strips are still published today.

B. They owned major competitive newspapers.

C. They established New York’s first newspaper.

D. They published comic strips about the newspaper war.

Question 41: The word “it” refers to _______.

A. balloon
B. farce
C. dialogue
D. the “Yellow Kid”

Question 42: The passage suggests that comic strips were popular for which of the following reasons?
A. Readers enjoyed the unusual drawings.

B. They were about real-life situations.

C. Readers could identify with the characters.

D. They provided a break from serious news stories.

Question 43: To say that Richard Outcault had been “lured away from” the World by Hearst means which of the following?

A. Hearst warned Outcault not to leave the World.

B. Hearst convinced Outcault to leave the World.

C. Hearst fired Outcault from the World.

D. Hearst wanted Outcault to work for the World.

Question 44: What does the passage mainly discuss?

A. The differences between early and modern comic strips.

B. Features of early comic strips in the United States.

C. The effects of newspapers on comic strip stories.

D. A comparison of two popular comic strips.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks 

Mobile phones emit microwave radio emissions. Researchers are questioning whether exposure to these radio waves might (45) _______ to brain cancer. So far, the data are not conclusive. The scientific evidence does not (46) _______ us to say with certainly that mobile phones are categorically (47) _______. On the other hand, current research has not yet (48) _______ clear adverse effect associated with the prolonged use of mobile phones. 

Numerous studies are now going (49) _______ in various countries. Some of the results are contradictory but others have shown an association between mobile phone use and cancer. (50) _______, these studies are preliminary and the issue needs further, long - term investigation. 

(51) _______ the scientific data is more definite, it is prudent for people to try not to use mobile phone for long (52) _______ of time. Don't think that hands free phones are any safer either. At the moment, research is in fact showing the (53) _______ and they may be just as dangerous. It is also thought that young people (54) _______ bodies are still growing may be at particular risk.

Question 45: A. cause
B. bring
C. produce
D. lead
Question 46: A. make
B. let
C. able
D. enable
Question 47: A. risky
B. secure
C. unhealthy
D. safe
Question 48: A. proved
B. created
C. demonstrated
D. caused
Question 49: A. on
B. about
C. through
D. by
Question 50: A. While
B. Though
C. Additionally
D. However
Question 51: A. Until
B. When
C. Provide
D. As
Question 52: A. quantities
B. periods
C. amounts
D. intervals
Question 53: A. way
B. truth
C. opposite
D. fact
Question 54: A. whose
B. that
C. with
D. as
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

Butterflies are among the most extensively studied insects, an estimated 90 percent of the world's species have scientific names. As a consequence, they are, perhaps, the best group of insects for examining patterns of terrestrial biotic diversity and distribution. Butterflies also have a favorable image with the general public. Hence, they are an excellent group for communicating information on science and conservation issues such as diversity.

Perhaps the aspect of butterfly diversity that has received the most attention over the past century is the striking difference in species richness between tropical and temperate regions.

For example, in 1875 one biologist pointed out the diversity of butterflies in the Amazon when he mentioned that about 700 species were found within an hour's walk, whereas the total number found on the British islands did not exceed 66, and the whole of Europe supported only 321. This early comparison of tropical and temperate butterfly richness has been well confirmed.

A general theory of diversity would have to predict not only this difference between temperate and tropical zones, but also patterns within each region, and how these patterns vary among different animal and plant groups. However, for butterflies, variation of species richness within temperate or tropical regions, rather than between them, is poorly understood. Indeed, comparisons of numbers of species among the Amazon basin, tropical Asia, and Africa are still mostly "personal communication" citations, even for vertebrates. In other words, unlike comparison between temperate and tropical areas, these patterns are still in the documentation phase.

In documenting geographical variation in butterfly diversity, some arbitrary, practical decisions are made. Diversity, number of species, and species richness are used synonymously; little is known about the evenness of butterfly distribution. The New World butterflies make up the preponderance of examples because they are the most familiar species. It is hoped that by focusing on them, the errors generated by imperfect and incomplete taxonomy will be minimized.

Question 55:  Which aspect of butterflies does the passage mainly discuss?
A. Their physical characteristics
B. Their adaptation to different habitats

C. Their names
D. Their variety

Question 56:  The word "consequence" in the passage is closest in meaning to "_______".

A. requirement
B. analysis
C. result
D. explanation

Question 57:  Butterflies are a good example for communicating information about conservation issues because they _______.

A. are found mainly in temperate climates
B. have been given scientific names

C. are simple in structure
D. are viewed positively by people

Question 58:  The word "striking" in the passage is closest in meaning to "_______".

A. noticeable
B. successful
C. confusing
D. physical

Question 59:  The word “exceed” in the passage is closest in meaning to "_______".

A. allow
B. go beyond
C. come close to
D. locate

Question 60:  All of the followings are mentioned as being important parts of a general theory of diversity EXCEPT _______.

A. differences between temperate and tropical zones

B. variation of patterns of distribution of species among different animals and plants

C. patterns of distribution of species in each region

D. migration among temperate and tropical zones

Question 61:  The author mentions "tropical Asia" in the passage as an example of a location where _______.

A. a general theory of butterfly diversity has not yet been firmly established

B. butterflies are affected by human populations

C. butterfly behavior varies with climate

D. documenting plant species is more difficult than documenting butterfly species

Question 62:  Which of the following is NOT well understood by biologists?

A. European butterfly habitats

B. Comparisons of behavior patterns of butterflies and certain animal groups

C. Differences in species richness within a temperate or a tropical region

D. Differences in species richness between temperate and tropical regions

Question 63:  The idea "little is known about the evenness of butterfly distribution" is that _______.

A. there are many other things that we don't know about butterfly evenness distribution

B. we don't know anything about butterfly evenness distribution

C. we know much about butterfly evenness distribution

D. we know about butterfly evenness distribution to some extent

Question 64:  The word "generated" in the passage is closest in meaning to "_______".

A. assisted
B. estimated
C. requested
D. caused

WRITING: Finish each of the following sentences in such a way that it means the same as the sentence printed before it

1. We can’t afford to buy the car. 

( The car


2. His parents made him study hard for the exams. 

( He was


3. We started cooking for the party four hours ago. 

( We have


4. He has never behaved so violent before. 

( He is behaving


5. We couldn’t get nearer because of the police. 

( The police 
……………………………………………………….
TOPIC: What was your favorite subject at school? Describe it and explain why this subject was your favorite one

----------------THE END--------------
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1. The car is too expensive for me to buy

2. He was made to study hard for the exams

3. We have been cooking for the party for four hours

4. He is behaving more violently than ever before

5. The police prevented us from getting nearer
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